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=4 Note from the author:
About this resource ...

Help Me at Home Curriculum Strand Worksheets
- Book 6b (Code: AH6b)

E is one of a series of TWO sets of 8 resources and has been written to cover the_achievement objectives as
— outlined in the Mathematics in the New Zealand Curriculum (2007 revised edition) document for the
teaching areas or strands of ... Number & Algebra, Measurement & Geometry and Statistics.

Resource Book 6b is to be used in conjunction with a second resource, Book. 6a.

T Help Me at Home Number Knowledge Worksheets
- Book 6a (Code: AH6a)
Book 6a has been written to support the Numeracy Professional Development Project currently being
implemented within many New Zealand schools.
Background Information: S Strategy Stages

The Numeracy Professional Development| Project being Emergent

implemented in many schools involves a knowledge section -and@ strategy
section.

One-to-one Counting

The knowledge section introduces and revises the key number knowledge Counting from Qne,on Materials

facts required.

Counting from One by Imaging

0]

1

2

The strategy section describes the mental procésses, students employ to S
estimate answers and solve problems involving the four operations of addition; 4 Advanced Counting (Counting On)

5

6

7

8

subtraction, multiplication and division.
Early Additive Part-Whole

Advanced. Additive Part-Whole

The strategy stages are listed in this table.

The aim of this project is to equip students‘with, various strategies that allow
them to be successful at Mathematics.

Advanced Multiplicative Part-Whole

In order for this to occur, it is essential for:students to be confident with
number knowledge.

Advanced Proportional Part-Whole

Without the 'knowledge', that is, knoewing the basic numeracy facts,. it is difficult for a student to,progress through the strategy stages.
Students move through the strategy stages at different rates.and may be working at different stages given a certain problem. This is
often a result of gaps in key knowledge, hence it CANNOT be stressed enough the importance of learning the numeracy facts. How
children learn the numeracy,facts'is not as important as knowing them. These resources.are designed to systematically introduce
and revise the key numeracy facts.

Strat
Resource BLagested rategy Curriculum
Book Year Group| Stages
Code . Level
How to use these resources: (pnderlined) | covered
There are 2 séts ‘of 8 resources in this series. la/1b| AH1a & ANGY 1-2-3 1to3 1
The table opposite shows the suggested Year 2a/2b) AHZEG g 2-3-4 4 1/2
Group each book.can be used at, but thissis only [3a/3b{ AH3a & AH3b 3-4-5 4&5 2
a suggestion. 4a/4b| AH4a &AH4b | 4-5-6 586 2/3
Example: 1-2-3 meansitislikely to be_ 5a / 5bl/AH5a & AH5b 5-6-7 68&7 3
used at Year 2, the bold underlined
number. 6a / 6b| AH6a & AH6b 6-7-8 6&7 3/4
7a/ 7b| AH7a & AH7b 7-8-9 6to8 4
8a //8b| AH8a & AH8b | 8-9-10 6to8 5

Why so many resources?

A note for Teachers

There are 2 sets of 8 resources in this series to allow you to have a different book available each year for classes which
are made up of mixed year groups. This will stop the problem of a student saying "We used this book last year!".
Which book you use for your class is up to your professional judgement, taking into account which resource classes
above or below your class might use.



How to use these TWO resources - Book 6a & Book 6b

Book AHG6a

Note to Teachers:

40x Number Knowledge . The aifi of ‘these TWO
resources (AH6a & AH6b) are to
WOI’kSheetS provide the classroom teacher

with™ a  systematic and
comprehensive series of

. This resource systematically introduces and revises worksheets, which _form the
the number knowledge, presented in various formats. basis “of your mathematics
homework.

. Designed to reinforce the Numeracy Professional
Development Project, it is intended that one worksheet
per week is completed in order from workshegt 1 to
worksheet 40.

Worksheets from Book 6a:

o Photocopy weekly. and
sequentially in orderf a Number
Knowledge worksheet from
Book 6a. On .the Number

. One worksheet per week is to be done in conjunction Knowledge AWorksheet, pupils
with one worksheet selected from the Curriculum can record their Name, Term,
Strand Worksheet resource (Book 6b). Week and .the Curriculum

Strand _Waorksheet that is also

. Book 6a covers the Strategy/Stages 6 & 7. to be done that week.

Worksheets from Book 6b:

. Select and photocopy the
— appropriate Curriculum Strand

Select ONE worksheet from each book to make up your homework worksheet Wor k,S heet required, as
= = determined by what you are
currently teaching in class or a

topic you are revising. In the
table on the next page, record
the curriculum worksheet being

BOO k AH 6 b used each week.

4OX Curriculum Strand Extension Activity for Parents:
o Each Curriculum Strand
Worksheets Worksheet has an AT HOME

activity as an extension
activity for parents or care-

. The 40‘worksheets in this resource cover the givers.
Achievement Objectives as,outlined in Mathematics . Success in mathematics s
in the New Zealand Curriculum for Number & greatly enhanced by having a
Algebra, Measurement & Geometry and Statistics. good understanding of Number
Knowledge. That is, from being
. These worksheets canbe completed.in any order. able to add, subtract, multiply
and divide with confidence, ....
«  One worksheet'is selected per week to be done in with success .... comes
conjunction.with one worksheet from the Number enjoyment.
Knowledge Worksheet resource (Book, 6a). . Either staple the two worksheets
together or create a double sided
. The worksheet selected per week relates to the topic homework sheet.

being covered at school or as revision.

. Book 6b covers Level 3 & some Level 4 of the
Curriculum.




Book 6a (AH6a) - Number Knowledge Worksheets

Number Curriculum Strand Number Curriculum Strand
Knowledge Tgnrterrnde(tg;mvt\)/ei(:k " Worksheet Knowledge T‘Ean';;nd ef‘;lswbeisk Worksheet
Worksheet e e || Worksheet e e e

1 Term: Week: 21 Term: Week:
2 Term: Week: 22 Term: Week:
3 Term: Week: 23 Term: _Week:
4 Term: Week: 24 Termi, Week:
5 Term: Week: 25 Term:  Week:
6 Term:  Week: 26 Term: Week:
V4 Term: Week: 27 Term: Week:
8 Term: Week: 28 Term: Week:
O Term:  Week: 29 Term:_ Week:
10 Term: Week: 30 Term: Week:
11 Term: Week: 31 Term; Week:
12 Term: “ Week: 32 Term: Week:
13 Term: " Week: 33 Term:  Week:
14 Term: Week: 34 Term: Week:
15 Term: Week: 35 Term: Week:
16 Term: \Week: 36 Term: Week:
17 Term:" Week: 37 Term: Week:
18 Term: Week: 38 Term: Week:
19 Term: Week: 39 Term: Week:
20 Term: Week: 40 Term: Week:




Book 6b (AH6Db) - Curriculum Strand Worksheets

(Tick next to worksheet as each ONE worksheet is issued per week)

N

A w

10

11

12

13

14

15

16

17

18

19

20

Reading and writing numbers

Place value revision

Addition & subtraction
strategies

More addition & subtraction
strategies

Ordering decimals

Multiples of 9's / x & + facts

Rounding numbers and
estimating answers

Multiplication strategies
Division strategies
Special Numbers

Fractions
More fraections

Equivalent fractions

Fractions / decimals /
percentages

Negative numbers
Solving equations
Number patterns or sequences
Measuring units - length

Measuring units weight (mass)

Measuring units volume
(capacity)

Tick

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

Reading scales / measuring &
drawing lines

Geometry words & naming
angles

Measuring and drawing angles
Perimeter
Area
Volume
Time
2D & 3D shapes

Reading map (grid) references

Finding location using co-
ordinates

Reflection & Rotation
Translation & Enlargements
Conducting an investigation

Sorting data using tally charts
Column graphs, pictograms &
dot plots

Stem and leaf graphs & time
series graphs

Finding the mean (average) and
the range

Finding the median and the
mode

Finding outcomes

Simple probability

Tick







Curriculum Strand \Worksheets
(Level 3 & 4)
Number & Algebra,
Measurement & Geometry,
and Statistics

Worksheets

Select:ONE Curriculum Strand Worksheet per week from this book (AH6b) to be
completed in conjunction with ONE Number Knowledge Worksheet,

selected from.:Book 6a (AH6a).

Record your selection inthe table at the front of this resource.



Reading and writing numbers

Use the clues across'and down to complete
this number cross.
Across
1 four hundred and seventeen paint four
nine
2 ninety=two point seven six five
6 three hundred and fonty-six point one
fwo
zefo point one fivesseven
8 eighty-nine thousand;Six hundred and
fifty-one

1)

10 three hundred and forty-seven point
two four nine
14 one point nine zero six
15 four hundred point two three five
Down
1 forty-eight thousand, nine hundred and

ten
3 seven point three fwo one nine
4  five hundred and six point seven eight

5 six hundred and forty-two point seven
five
Copyright © 5007 AWS Publications Ltd

Name:

Down

9 nine point two three six

11 seven hundred and thirty-nine point
two four

12 £ nine point four seven two

18+ fwelve thousand, six hundred and forty

-eight
Werite these numerals
as'number words.

@ 8.3
(3) 605
©) 896
(5) 918.7
(6) 4713
™ 19.014
(8) 13203

y
; ‘u;\ The aim of this activity sheet is to read and write decimals
as numerals and number words.

&
\
| o e

Suggested HOME activity:

Say aloud or write any 2, 3 or 4-digit whole number or decimal in

number words and ask your child to write it as a numeral. Concentrate
‘ on pairs where the digits have been reversed.

Example: 1423, 3241 ..... 1.47,7.41 ... etc.
‘ Write any 2, 3 or 4-digit whole number or decimal as numerals and ask
your child to say, then write the numeral as number words.

| Sign when
completed:




n Place value revision

Name:

As we have seen, the 'digits’ in a whole

number all have a place value.

Numbers involving decimals also have %
particular place values. s
Example: What is the value of the digit ‘9" in
each of these numbers? 20.95 and 7.196

The place a digit has in a number
will affect it's value.
Example: In 41,62, the 6 has

a place value of /10 and means 0.6.

What isithe place value of the BOLD digit in each
number and what does it/méean?

Answer: The digit '9" in 20.95 stands for 9 tenths. Place value means
The digit '9' in 7.196 stands for 9 hundredths.
I () 53.745 0.04
Some of the place values for numbers involving )
decimals are shown in this chart below. ©) 976.20 10's
1 1 1
100 10 1 7
) + 10 100 1000 Y 5142'49
hundreds tens ones (units) tenths hundredths |thousandths
®) 72.354
Count the number of rings on each peg.
What decimal nhumber is shown on each abacus? © 43.025
100's (10) 629.49
10's
@ 1's (11) 197.82
1/10'5
oS (12) 75891
- P Li's @a3) 9.1756
100's  10's  1's @ /10'S  /100'S4 l1000'S |
@4 5.4359
100’
N (s) 8.0035
10's
@) 1's
ip's To show you understand place value,
o' circle the following digits ...
/100" ; T
——— —T &=~ . 19). (. circle the 1's digitin 13.602
100’s 10's 1's @./10'S /100'S /1000’ |
a7 circle the 100's digitin 674 .432
100's
10's (18)" { circle the '/10's digitin 987 .68
3 '
l,i.ss 19) " circle the '/1000's digitin 0.3792
Yo (20) __ circle the 1000's digitin 503856
- /1000's .
100's _10's _1's @'/,0'S ‘figg's Yiooo's | | €™ The aim of this activity sheet is to understand place value
| & _ﬁ& for numerals that are whole numbers or ones that include
(4)  Colour in rings on thisabacus to o £p decimals.

show the number 207.136
| ]
1

100’'s

b3
[
|

10's 1's @ ‘i's

o r—
/100'S /1000'S

Copyright © 5007 AWS Publications Ltd

| Suggested HOME activity:

| Find different coloured blocks or objects to represent 10000's, 1000's,
100's, 10's, 1's, /10's, "100's and "/1000's. Ask your child to model any

| numeral using the coloured blocks.
Example: For 5.79 ... 5 1's block, 7 "/1o's blocks and 9 "/14¢'s blocks.

Ask your child how many of each place value there is in any 5 to 7-
| digit number you write, similar to the numbers in question 16 to 20
above.

Sign when
| completed:




B Addition & subtraction strategies

Name:

AWS

There is more than one way to work out an
answer. Here are some examples.

Groupings of 10, 100 or 1000

Splitting numbers to make ‘10'
Work out 425 -8 - @ (425 =420+5)
420 - 8 = 412, Answer: 412 + 5 = 417

Adding 35 + 8 + 70 is the same as 100 + 13 = 113
@ 59 +4+50= + =
@) 10+75+95 = + =
©) 620 + 29 + 400 = + =
4 1520 + 1580 + 16 = + =

Using known doubles
Adding 85 + 86 is the same as 80 + 80 + 11 = 171
or 90+90-9:=171

(5) 74+71=70+70+

(6 92 +95= +90 +

™ 114 + 115 =110 +

® 344+ 347 = + + =

Round to make '10' or a ‘multiple of 10'
Add 98 +9 (add 2 to 98, subtract 2 from 9)
Answer: 98 +9 =100+ 7 = 107

C)) 126 + 49

130 + =

(10) b7 + 275 = + =
(11) 458 + 34 = + =
(12) 69 +0638 = + =

Adding or subtracting 100's, 10's and 1's
Example:  Add 473 + 524
(100°'s) 400 + 500  (10's) 70+ 20
Answer: 900 +90 +7 = 997

(1I's)3+4

(13) 523+ 437 is the same as ...

500+ ( +20%w  +3+/ =
(14) 765+ 234 isthe same as ...
(15) 887 - 354 is the same as ...

800-__  +_ -B0+__  -4=__
(16) 749 - 518 is the same as ...

Copyright © 5007 AWS Publications Ltd

17y 205 -9 is the same as ..
200 -9+ =
(18) “ 521 - 8 is the same as ..
&8+ =
(19) 7682 - 7 is the same as ...
680 - + =
(20) 921 - 9 is.the same as ...

Don't subtract ... add
104 - 77 = @ is the same as 77 + @ = 104
Use 'tidy* numbers to work this out.

-~

N

772737475 [764(77) 78 | 79
4828384 » 888950
91192193194 959798199
101]102]103(104)105/106(107[108]109

~

Answer: 3+ 20+ 4 =27 (77 +3+20+ 4 =104)

@1) 83 -59:=@isthe same as b9 + @ = 83
®-1+20+ =
(22) 135~ 87 =@ is the same as 87 + @ = 135
® -3+ + =

(230, (292 =147 = @ is the same as 147 + @ = 292
@ - + + =

(24) | 327.- 99 = @ is the same as 99 + @ = 327
@ - + + =

(25) 543 -168 = @ is the same as 168 + @ = 543
[ = + + =

-

o ”w“k\ The aim of this activity sheet is to look at different
& _. strategies that could be used to work out addition or
% @ Subtraction problems.

Suggested HOME activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.

Sign when
completed:




n More addition & subtraction strategies Name:

AWS

Don't subtract ... add
92 - @ =58 is the same as 58 + @ = 92
Use 'tidy' numbers to work this out.

51| 52[53]54]55]56 |57
61|62]63]64|65]|66]|67]68
7172|7374 |75 |76 |77 | 78
81|82[83]84|85|86|87]88
91 [(92) 93 | 94 %96 97 | 98
Add a 'large’ tidy number, then count back
Answer: 40 -6 =34 (58+40=98-6=92)

59 | 60
69
79 [ 80
89 (.90
99 (100

5]

» &
7> X

Both sides are equal
Find the missing number ... 57 + 32 = @ + 30

(add 2 to 57 because 30.is 2 less than 32)
Answer: 57 + 32 =59 + 30

Find the missing number ... ® - 38 = 78 - 40
(add 2 to 78 because 38 is 2 less than 40)

Answer: 80 - 38 = 82 - 40

@ 145 - 89 = @ is the same as 89 + @ = 145
® - 60 - =

(2  315-117 = @ is the same as 117 + @ = 315
o- - =

(3) 481-246 = @ is the same as 246 + ® =481
o- - =

(4) 765-389 = @ is the same a5.389 + @ = 765
- - =

Reversing order
® + 36 =71 can be written as 36 + @ = 71,
then work out using any strategy

) ® +78 =117 78 + =
(6) ® + 93 =247 + =
™ ® + 69 =304 + =
® @ +216=342 + E
©) @ +478 = 941 + =

Equal additions to make 'tidy' numbers
Subtract 162 - 96 (add 4 to both numbers)
Answer: 162-96 = 166 - 100 = 66

(10) 72 - 38s=. 74 - =
(11) 191 - 85 = - =
(12) 345 - 56 = - =
(13 904 - 97 = - =
(14) 796 - 148 = - =

Find the missing numbers.

(15) 49+  =H0+95
(16) 128+54=130+__ ..
(17) . -74=247-80
(18) 47 +186=__ (#1183
(19) 395-228=400=.

Work out the problems using
any strategy you like.

(20) 99 - 63 = =
(21) 312+ 89 = =
(22) 191-76 = =
(23) 334-186 - =
(29) 58+ 116 = =
(25) 85+24+19= =
(26) 376 - 224 = =
27) 75+ 139 = =
(28) 54+93+12= =

&
A | The aim of this activity sheet is to look at different
P ﬁ‘/b\ strategies that could be used to work out addition or
«% ¢» Subtraction problems.

Suggested HOME activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.

Sign when
completed:

Copyright © 5007 AWS Publications Ltd




H Ordering decimals

Name:

6.86
5.45
13.9
0.87
7.04
11.3

(1) Write these decimals in order
from smallest to largest.

Honey jars are filled by a machine.

HONEY

Below are the weights of five jars.

| A B | ChD | E

Mark competed in the javelin throw.
His throwing distances are in the table.

Throw 1 2 3 4 5

Distance |32.85m|31.47m|33.48m|33.71m|32.75m

@) What was the distance of his
longest throw?

3)  What was the distance of his
shortest throw?

(4)  What was the distance of the 4th longest
throw?

(5)  Write the throwing distances.in'order from
longest throw to shortest throw.

Lane Time

1 734
777
69.3
65.9
724
68.1
70.8
67.9

This table shows the results of
a 400m race, run in 8 lanes.

The time isiin‘'seconds and there
were eight runners.

O |IN | OB w( N

®©) Inwhich lane was the
fastest runner?

(7> Inwhich lane was the
7th fastest runner?

8  What were the times for 1st, 2nd and 3rd?

9  Write the lane numbers for the runners in
the 400m race in order from fastest time to
slowest time.

’ ’ ’ ' ' ' '

Copyright © 5007 AWS Publications Ltd

Weight.1.496kg | 1.512kg | 1.491kg | 1.507kg | 1.497kg

(10) “What is the weight of thelightest honey
Jar?

@1) What is the weight of the heaviest honey
Jar?

@2) What is the weight of the 3rd lightest
honey jaf?

(13) What weight of honey do youwthink the
machineis trying to fill in each honey jar?

(14) _Write the weight of these honey jars in

order of lightest fo heaviest.

' ’ ’

Using the five digits inthis box and a decimal
point, create the largest number closest to 40.

'8|af5]0|2]| |e] 40.258

Answer:

(15) Use these digits ....

w6 1]5[7[2] [o]
to make the three closest numbers below
and above 27, in order from smallest to

27.0000,

£

7™ The aim of this activity sheet is to learn to order numbers B\

;7 ‘“.\ from smallest to largest or largest to smallest and revise ‘
2 words such as first, last, lightest and heaviest etc.

> T»

Suggested HOME activity:

Using up to six different money totals to represent decimals, ask your

child to order the totals from the smallest to largest total. ‘

Example: $25.40, $24.50, $32.80, $41.60 etc.

Make up similar word problems as above that involve different weight,
distance or volume values and ask your child to order each group.

Sign when ‘
completed: ‘




n Multiples of 9's / x & + facts

This number line shows skip counting in 9's.

& | | | | | | | | | | | N
N | 1 1 1 1 | 1 1 1 1 | ”
L B[ o [[18][27 ][ 36 |MEEM (54 ][ 63 ][ 72 |[ 81 | IENH

"What's9+9+9+9+9 ..
same as 9 x 5?" asked Jack.

(1)  Write the missing multiples of 9 as you skip
count in 9's up to 90.

9, . , 36, /

, 63, , 81,

Work out these skip counting questions and
write them as multiplication facts.

) 9+9+9+9= and is the
same as 9 x ~
(3 9+9+9+9+9+9+9= and
is the same as 9 X =
@ 9+9+9+9+9="" and
is the same as 9.x =
(5) 9+9:= and is the
same as 9 x =
(6) 9+9+9%9+9+9+9+9=
and is the same as 9:x =
) 9+9+9=__ dandis the
same as 9.x =
®) 9+9+9+9+49+9+9+9+9=
and is the.same as 9 x =
9) 9+9+9+9+9+9-= and is

the same as 9 x =

9+9+9+9+9+9+9+9+9+9=

and is the same as 9 x =

(10)

Copyright © 5007 AWS Publications Ltd

Write in the missing numbers for the =

9x multiplication facts. é
a1 x 9= | @®,9 x 5 =
a2 9x 4 = | ANy2'x 9 =
a3)_6 x 9= Taeyo x 7 =
I p9'x 9 = 1NE9 3 x ©O,=
(15 10 x 9 = 20 9 x 8 = |

“How many times will 9"divide into 727"
asked Mark.

Written as. 72+ 9= ? ... the answer is 8.

Write in, the missing humbers.for
these 9x division facts.

@63 + 9 = @l 9 = 1
@ W+ 9 =3 @ 90+ 9 =
@)y 72 -+ 9 =" e 9 =5
@)  + 9 =19 | @ 36+ 9 =
25 18 +/ 9= (30) =+ 9 = 6
31) If.bhe book:sfs $9.00,h—ow =

much would 8 books cost?

X =
(32)» If one ice-cream costs $5.00, how
much would 9 ice-creams cost?
X =
33)  If youspent $81.00 to buy 9 CD.'s,

how much did each C.D. cost?

0

N The aim of this activity sheet is to use skip counting in 9's
% @ tointroduce the 9x multiplication facts. Multiplication is
‘ﬂg 'short-hand' for repeated addition of the same number.

Suggested HOME activity:

Revise skip counting in 9's until your child can successfully and quickly
count in 9's up to at least 90. These are called the multiples of 9.

Ask your child each multiplication fact until they know them all.

Example: What is 9 multiplied by 57 ..... 9, 18,27, 36, 45.
At this stage, your child may still skip count to get the answer.

Sign when
completed:




Rounding numbers / estimating answers Name:

AWS

Rounding a money total to the nearest 10 can
make adding up money less difficult.

Example: $147 is almost $150, $142 is just over $140

Round up if the end number is 5, 6,7, 8 or 9.
Round down if the number is O, 1, 2, 3 or 4.

Round each money amount to the nearest 10.

@ $78 ©) $684
@) $92 - @) $946
3 $197 - ®) $1277
) $274 - ©) $2643
(5) $186 - (10 $9016

When rounding a number to the nearest 100,
look at the 10's place value number.

Example: 767 rounds up 10 800 (5,6,7,8,94)
but 437 rounds down to 400 (0, 1,2, 3,4 W¥)
When rounding a number to the nearest 1000,
look at the 100's place value number:.
Example: 7675 rounds up to 8000 (5,6,7,8,9 4)
but 4372 rounds down to 4000 (0, 1,2, 3,4 W¥)

Round these numbers to the nearest ...

10 100 1000
11) 1425
12) 5639
3) 3974
14) 14609
(15) 38250

When rounding a decimal to 1 decimal place
(1 d.p.), look at the /100's place value digit.

Example: 456 rounds up to 4.6 (5,6,7,8,94)
but 2.43 rounds'down to 2.4 (1,2, 3,4¥)

Round these decimals to 1 decimal place.

(16) 479 (21)  291.29
@an 21.42 (22)  328.34
(18) 14.87 (23) 42447
19) 40.09 (24)  703.85
(20) 51.62 (250 91543

Copyright © 5007 AWS Publications Ltd

Round these money amounts to the nearest $10,
$100 or 10 cents, then work out an answer.

Add $29 + $32 ... Rounded $30 + $30 = $60
Add $117 + $769 ... Rounded $100 +$800 = $900
Add $1.28 + $4.53 ... Rounded $1.30.+ $4.50 = $5.80

SN
===

The‘answer you get is called
an estimate because:it is not
the exact answer.

Round each money amount to the nearest $10,
then work out an estimated answer.

@6) $96 + $54 = + =

(27)  $278 +$62 = + =
28) .$394-$79 = - =
(29) 0.$524 = $176 = S =

Round each money amount to the nearest $100,
then work out an estimated.answer.

@0) . $425 + $789.2 + -
31 $875+ $639 = + =
82) $1682 - $829 = - =
33 $3631-$979 = - -

Round each money amount to the nearest 10
cents (t'dp.), then work out an estimated answer.

34, $8.48 + $9.37 = + =
(35 $597 + $8.68 = + =
(36) 1, $3453-$7.49= - =
@n  $49.95 - $8.65 = - =
$

@ \ The aim of this activity sheet is to round numbers to the
*_# nearest 10, 100, 1000 or Y110 Rounded numbers can be
&% #» Uused when working out estimated answers.

Suggested HOME activity:

Call out money amounts of less than $100 and ask your child to round
them to the nearest $10.00. Repeat the exercise for money amounts
greater than $100 and ask your child to round to the nearest $100.00
Example: Round $27 to the nearest 10. Round $286 to the nearest
100. Round $5.64 to the nearest /1.

Ask your child to round 2 ,3, 4 or more numbers to the nearest 10,
then have them add them up to come up with an estimated answer.

Sign when
completed:




n Multiplication strategies

Name: Aws

When working with large numbers, there is
more than one way to work out an answer.
Here are some strategies.

Using place value
Working out 59 x 8 is the same as ...
(50 x 8) + (9 x 8) =400 + 72 = 472

1) 93 x5 =(90x )+ (3 x )
= + =

@) 73x6 =( X )+ ( X
= + =

3) 86 x7 =( X )+ ( X
= + =

4 98 x8 =( X )+ ( X

(5) 209 x4 =( X )+ ( X

Rounding to use 'fidy' numbers
Working out 298 x 5'is the same as ...

(300 x 5) - (2 x 5) 211500 - 10 = 1490 kit

(6) 897 x 44=(.900 x ) - (3% )

@) 396 x 6

"
~—~
X
~—
[}
~—~~
X

®  695x7

1"
—~
X
~
]
—~
X

) 407 x 8 = (400 x )+ (7 x )

10) 506 x9 =( X )+ ( X
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Doubling and halving factors
Working out 16 x 5 is the same as ... €
8x10=80 ($x16=8,2x5:=10)

(11) 5 x 40 = 10 x b

12) 48 x5 = X =
(13) 12x32= X =
(14) 21 x 16 = X =
(15) 8 x50 = X 1

Using written working forms
To work out 95 x 8, rewrite@s ...

795

Firstly, 8 x5=40

~_ (x8
(Note: small 4 represents 40) 0

95
then, 90 x 8 = 720 plus 40 760 x 8
760
@6) 267 (19) 349
x 3 x7
an 549 20) 269
x 4 x 8
(18) 387 (21) 569
X6 X9

3

A m\\\ The aim of this activity sheet is to look at different

¥ ' strategies that could be used to work out multiplication
«® @ Problems.

Suggested HOME activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.

Sign when
completed:




n Division strategies

Name:

When working with large numbers, there is
more than one way to work out an answer.
Here are some strategies.

Using known multiples of 10
Working out 85 + 5 is the same as ...
(50+5)+(35+5)=10+7=17

W 764 =(40+__ )+(36+__)
@ 155+5;(100++ )+ ( _ Y ,
@) 108+6;( s )+ ( — s )
) 126+7;( s )+ ( — - )
®) 152+8;( s Yot ( ! . )

©®  792+2:=(800+___ )-(8=L )
@) 1386+7;( +— )-(— s )
®) 1584+8;( +- )-(_ B )
©) 1224+6;(1200+- )+(_ )
(10) 1827+9;( + )+(_ - )
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Halving factors

104-8.52+4..26+2=13

(11) 288+12= +6= 3=
(12) _128+16-= 8= - =
(18) 960 -+ 40 = h = s =

(14), 528 - 24 =

(15) 576+ 32=

Using written working forms, some with
remainders. To work out 97 + 6, rewrite as ...

Firstly, 96 =1 1
with a remainder of 3 6W
then 37 - 6 = 6 16 ri
with a remainder of 1 6)9°7
@ae) 2y

4W 4W
a7) (22)

6 ) 87 6 ) 345
(18) (23)

7) 96 7j 948
19 (24)

8)7 9 8 ) 659
(20) (25)

9)8 6 9j842

;7 ‘\. The aim of this activity sheet is to look at different strategies
7 that could be used to work out division problems.

N @
Suggested HOME activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.

9
b

Sign when
completed:




Special numbers

A
Name: ’

AWS

"Is the number 7 a prime number?”
"Can you list the first 5 multiples of 82"
"Can you list the factors of 10?"

Prime numbers, multiples and factors @
are all special types of numbers.

Use the words in the box to fill in the missing
words in these sentences about special numbers.

factor, multiples, prime
A number can only be

divided by two numbers, itself and 1.

The of a number are
found by multiplying the number by 1, 2, 3, 4,
5, etc and recording the answers.

®

@

A of a given number is
a whole number that divides exdctly into the
given number. There is no.remainder.

3

Working with prime numbers.

(4)  List the first 8 prime numbers.

When a number is multiplied by itself, such as ....
1x1, 2x2, 3x3,4 x4 etc. the answers that
are created are known squares.

These can be written as 12, 22,32, 42, etc. p
We say., 4° as Four squared, @»J
which means 4 x4 =16 \ f

Work-out the squares of these numbers.

13) 4% = (as) 9%=
aa " 6° = (19 22%=
@s) 10%= 0) 7%=
(16) 5°:= 1) 12%=
an 3?-= @2) 15°=
(23) ( How many concrete tiles are

needed to tile a square court
yard,if one side is 11 tileslong?

The opposite of squaring a number is to find the
square root. The symbol for square root is V.

() List the prime numbérs between 50 and 70.

Example: If 9 x 9/= 81, then V81=9 %

(i.e. tTwo humbers the same that multiply to 81)
Work out the square root of these numbers.

6)  Circle the prime numbers in this list,

29, 31, 33, 35, 37, 39, 45, 47, 49, 51

Working with multiples.
Example: The mdltiples-of 5 are .. 5, 10,15, 20, 25, 30 efc.

(7  List'thefirst 10 multiples of 7.

8 List the multiples of 6 between 31 and 55.

9 List the multiples of 9 between 40 and:100.

(24) 49 = 29) 64 =
25) 100 = (30) V16 =
(26) 8l= (31) 144 =
@7) 9= (32) 225 =
(28) V25:= (33) V400 =
(34),. ‘A square court yard has 36

one metre square tiles.

How long is each side?
3

Working with factors.
Example: 2 and 3 are factors of 6 as 2 x 3 = 6.

(10) List the factors of 12.

\. The aim of this activity sheet is to understand how some
( special numbers are created - square and square roots.

« &»
Suggested HOME activity:

Read out the definitions for the special number (Q1 to Q3) and ask
your child to name the special numbers.

Make up similar questions as on this worksheet.
Example: What are the factors of 24? List the first 7 multiples of 9.

(11) List the factors of 35.

Is 17 a prime number? What is 10 squared? What is the square root
of 81?7 etc.

(12) List the factors of 48.

Sign when
completed:
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Fractions Name: _AWS ’

An object cut into TWO equal sized "What's one fifth of $45?" asked Andy.
pieces is said to be cut in half. (Written as 3 of 45 or 5 x 45)
One half written as a fraction is %. "Try what number multiplied by 5 is 45
‘ . T
For any fraction, the bottom number, tells you or dividing 45 by 5," SHitiglom
how many times the ‘'whole ' object has been cut (Writtenas 5 x @ =45 0or 45+ 5= @.)
or divided up. ( =S Answer: $x45=9,/as5x9=-450r45:-5=9)
L1y 1y 17 1, 1y 1 oS
Example: /2 '/3 /4 /5,6, )10 etc. Wark out each fraction of these numbers.
Write the missing fractions, words and numbers
o » @5) Find 1 of 36 = as 3 x = 36
in this table. Choose from this box. ° ( )
. 1 - —
one sixth, one tenth, one half, one quarter % % L % @6 Findsof 85=_ _ (as 5x. = 85)
. 1 _ _
Fraction Written as ... Means ... (@7 Find7of84=-__  (as7X.L -84)
1
@ 2 |@ __outof |l Findfof72- (@723 6=__)
one third |® 0 .
ne thir @ —ofof — |luo) Fifdigof 96 - (@s96-8=_ )
(5) (6) 1 outof 4
(20) _Find 5 of 190 = (@as190+10=__)
one fifth ) @ (. outof
Finding a 'whole'.
©) (10) 1 out of 6 g
] (21) | Ben was given 12 chocolate
an 10 (12),.out of &, squares which was'3 of a
(13) Each strip below hasibeen divided up. block of choco.la‘re.‘ How 5
Beside each strip, write What 3@1 many squares in this block of chocolate:
fraction has been shaded in. T N .
- . 1
IS RS — S — 22)  If Helen'spent $10 which was § of her
—— [ [ 0= pocket money, how much pocket money did
— ?
——— ——— [ she get:
el ] [ [ [ F o= X =
bdbedad T T =k 1 = (23)1" A café has sold 23 bread rolls =R N
- which was ! of the bread rolls ~—
e L LT T T = available for sale that day. How many
. . bread rolls did the café have for sale?
(14)  Show you understand fractions by shading ...
g = | | | | | X =
2 @ -
/5 -» | | | | | | “\\\ The aim of this activity sheet is to understand how to work
& ﬁ‘/b\ out a fraction of a group of shapes or a number. Working
5/6 -» | | | | | | | «% ¢» With fractions can either involve dividing or multiplying.
Suggested HOME activity:
4/7 - | | | | | | | | Find a collection of objects from around the house or use money totals
and ask your child to find a fraction of each group / money total, using
7/ - | | | | | | | | | the fractions on this worksheet. Extend the exercise to include working
8 out what a total group would be given a fraction of it.
7/10 - | | | | | | | | | | | Example: If of a group is 4, how big is the group. Answer: 12
. Sign when
... of each strip. completed:
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g B More fractions

Name:

AWS

For any fraction, the bottom number, tells you
how many times the ‘whole ' object has been cut
or divided up.

Example: Y2 M3 Yo Vs Mo Mo ete.  wii?

If 1 is the top number, the bigger the number on
the bottom, the smaller the fraction.

"What's two thirds of $27?" asked Andy.
Written as % of 27 or § x 27
"Firstly, divide 27 by. 3 to find 3, then
multiply your answer by 2.to find §", said
Tom. Answer: 27 =3 29, then9 x 2 = 18

(1)  Write the fractions in the box in AR
order from smallest to largest. "2 o
12 g
’ ’ ’ 1/5 ,1/9
2 Mark each fraction (A to E) on

%4

A=1/7, B=1/20, C=1/3, D=1/9, E:1/12

this number line, where X = 1/,.

\4

A

|
0 | 1
X

Just like whole numbers, a number sequence can
be created by skip counting in fractions.

Example: '/, 212 212 %12 2125/, ete.
This sequence was created by ~
adding '/, to each new frdction. =

(3) Wprite in themissing fractions as you
skip count in !/4's %o create this fraction
sequence.

1/4, 2/4, ' 5/4, ' 7/4, '

(4)  Wprite in the missing fractions asyou
skip colnt in*/s's to créate this fraction
sequence.

/s, 2*/s,
7/8l ’ 11/8I ’

(5)  Write in the missing fractions as you
skip count in !/12's to create this fraction
sequence.

e/, e,
8/12, ‘ 12/12
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Work outreach fraction of these.numbers.

@) . Find %/3 of 36 = (36 -3:=2x2=?)
(") Find 3/4 of 48 = (48+4:=2x332?)
®  Find°/; of 632 (63+7:?x5=2?)
@  Find /g of 56 =
10)  Find*/5 of 95 =
11) _Find’/5 of 72 =

Word problems.

(2) . Andy is ?/3 the way'through a cross-
country race. If fthe race is 4500m @
long, howfar.has he run so far? eog

9 v o
4500+ = X =

@3)  Rodm 9 pupils are 3/, the way through a 60
minute game of soccer. For how
longhave they been playing?

60 = = X =
(14) /A café has sold */5 of the bread rolls

available for sale that day. If there are 80
bread rolls available, how many has the café
sold so far? <\ \y

LIRSSty
A@—’ S

¥,
. The aim of this activity sheet is to understand how to order
~1__# fractions, create a sequence and work with fractions when
«% #» the top number is greater than one.

Suggested HOME activity:

Using money, ask your child to find a fraction of each money total,
using the fractions on this worksheet where the top number is 1.
Extend the exercise to include fractions where the top number is
greater than 1 but less than the bottom number.

Example: Find #of 24, Zof 28, fof 24, £of 24, £of 24, etc.

Sign when
completed:




Equivalent fractions

Name:

Kerry cut his pie into 4 equal pieces.

Josh cut his pie into 8 equal pieces.

If Kerry ate '/4 of his pie, how many
pieces of pie must Josh eat, so that he
has eaten the same fraction of his pie?

Answer: 2 pieces of pie as %/g = /4.

The fractions /4 and 2/, are called
equivalent fractions, as they represent
the same part or fraction of a whole.

ICE CREAM

Prewmiian grade

9

2/5" 7/7 =

(10)

3/3" 5/5 =

A smaller equivalent fraction can be
created by dividing the top and bottom

=

numbers of a fraction by the same number. / @\)
Examp/e: 15/20 = 5/5 ;2:: = 3/4. jﬁg}

Part of the Group 1 shapes have been shaded in:
Shade in the number needed in the Group 2
shapes to create equivalent fractions.

Here both numbers were divided by 5.

Make smaller equivalent fractions by dividing each
fraction by the numbers given.

10 -
Group 1 shapes Group 2 shapes |V “VwfBlpz -, =
@*K% AV e .
&) EAEAS Sy R
A, AV~ Sl
< NS PP 5,025/ = ' -
@ > s > o 1
D@ ,
O S > | @ 16,02 8/y = i &
ee . -
3)
@ * fe%e%. N JRCRL Sk
EEEEEN [ [ N
@ L R T @)  How fanysbottles are
I e s NOT in this crate?
@
IR A
%%% & 7). How many bottles does this
crate hold altogether?
A larger ‘equivalent fraction can be . .
created by multiply the top dnd bottom (18)y ¢ Write the fraction ...
humbers of a fraction by the sdme number. / = Number of bottles outside crate
Example:  /3x /4= ;:1 . ﬁé‘ﬁn Number of bottles the crate can hold
Here both numbers were multiplied by 4. (19)  Write the smallest equivalent

Make larger equivalent fractions by multiplying
each fraction by the numbers given.

1x
(6) 1 3/, = =
/2 x /3 2% O
D x5z ‘/?
(8) 2/3 x 9/9 = = 4‘/
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fraction for your answer in Q18.

:‘3) R . . P .

@A _ K The aim of this activity sheet is to understand that

) ’ﬁ‘/b fractions can be represented by different numbers, but the
«» ¢ fractions are still equivalent.

Suggested HOME activity:

Find a collection of objects from around the house or use money totals
and ask your child to find a fraction of each group / money total and
then create equivalent fractions using their answer.

Example: Find ?/> of $40. An equivalent fraction would be %°/4.

Sign when
completed:




Fractions / decimals / percentages

Name: Aws

called the denominator.

The top number of a fraction is called
the numerator. The bottom number is

Fractions can be converted into decimals, by
dividing the numerator by the denominator.
Example: Convert % to a decimal.

0.75 Zeros will need to be added after the decimal point.

You keep dividing until there is no remainder or there
4 ) 3.00 are at least 3 digits after the decimal point.

Percentages can be converted into decimals,
by dividing the percentage by 100.

Example: Convert 50%, 25%;1.9% and 140%
to decimals.

Answers: 50% + 100 = 0.5, 25% + 100 = 0.25,
1.9% =100 = 0.019 and 140% - 100 = 1.4

Convert these percentages to decimals

Convert these fractions to decimals.

@) 1, 3)

2)1.0
—

) Y4 (4)

2/5

4/5

&
T~

(13) 60% 60 +100 =
(14) 75%
(15) 25%
(16) 150%

Percentages are out of 100. Percentages can be
converted to fractions with denominators of 100.

fractions
Answers: °/10  ®/100 /1000

Decimals can be converted into fractions, with
denominators of 10, 100, 1000 etc.

Example: Convert 0.5, 0.25 and 0.019 to

Some fractions can be simplified ...
%0=2 and %l =4

Example: Convert 30%, 84%:and 9% to fractions
Answers: 30/100 = 3/10 ,84/100 = 21/25 and 9/100

Convert these percentages fo fractions.

Convert these decimals to fractions.

a7) 60% 2% =
(18) 25%
(19) 40%
(20) 75%

Fill in the'missing fractions, decimals or
percentdges in'the table below.

®) 0.8 /o=
(6) 0.6

@) 0.75

®) 0.05

to percentages

Decimals can be converted into percentages,

by multiplying the decimal/by 100. 0 /

Example: Convert 0.5,0.25,0.019 and 1.4

Answers: 0.5 x 100 =2 50%, 0.25 x 100 = 25%,
0.019 x 100 = 1.9% and 1.4 x 100 = 140%

Convert these decimals fo percentages.

N

(9) 0.8 0.8 x 100
(10) 0.25
(11) 0.47
(12) 3.62

(21) <> (22) 50%
A <> (23) (24)
(25) < 0.75 (26)
(27) <> (28) 80%
(29) <> 0.6 (30)
/s <> (31) (32)
; ™. The aim of this activity sheet is to understand that

;; *” & numbers can be expressed in different forms and to be
«% #» able to convert between these different forms.

Suggested HOME activity:
Using at least the fractions, decimals, percentages presented on this
page, ask your child to convert between each form.

Example: Convert zero point five (0.5) to a fraction and a percentage.
Convert sixty percentage (60%) to a decimal and a fraction. Convert
one quarter to a percentage and a decimal. etc...

Sign when
completed:
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Negative numbers

A
Name: ’

AWS

Negative numbers are used in many situations.

Examples:

Last night there was a minus 6 degree
frost. My bank account is in overdraft >7”J(\ I‘J&\F
by the sum of $400.

NI
Negative numbers are below zero and a small
negative sign must be shown.
The frost is written as ~6°C and the overdraft is
written as ~$400.

This diagram shows a sailing ship, two divers,
some birds and some fish. The sea level is at zero
onh the scale drawn. The scale is in metres.

Use the thermometer scale to work out the new
temperature after the following changes.

10°C
(1) Startat 6°C ... drop 6°C
(2 Startat 0°C ... rise 8°C -
(3 Startat 3°C ... drop 7°C
(4 Startat ~4°C ... rise 9°C 10°C

(6) Startat ~3°C... drop 5°C
This hotel has several floors
above ground and three
floors under-ground for
shops and parking.

G = ground floor

EEEO—‘N&&M@\A

(6)  Using negativesnumbers, how could you

label the three floors below groundlevel?

(7 If you were.on the 4th floor and went down

6 floors on which floor would you be on?

Jodie has a bank account that allows her
to spend more money than she has in it.
When she does, the account isin
overdraft and has a negative balance.

Jodie's has $200 in her bank account. If
she buys a new, mountain bike worth $450,
what is the new balance of her account?

®

@  Then Jodie's wages of $325 are added to
her account. Work out the new balance of

her account.
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A 10

- 5

- Height in
T 0 metres
+ 15

- ~10

Y

(10) Whatis the height of the
mast above the sea level?

(11)«nWrite the height of each'bird above the sea
level as positive numbers.

(12) " Draw another bird.in the sky, 10 metres
above the sea level.

@3) A diver is 10 mefres below sea level.
Write this depth as a
negative number?

(14) What is the depth of
the other diver?

(15) »Write the depth of each fish as negative

numbers.

v ' v

A divingsea bird is flying 7 metres above the sea.
It then dives straight down 13 metres.

(16) Worite the depth the bird . 17;’
reaches below the surface  ~ ==
as a negative number.

@

W‘\\\ The aim of this activity sheet is to understand negative
o ,,;D numbers occur below zero, as already discussed when
<% #» working with temperature.
Suggested HOME activity:
Using money totals, ask your child to subtract more from a given total,
as would occur if you had an overdraft on a bank account.

Example: If you had $50 in an account and spent $75, what is the new
balance of your account? Also do the reverse .... start with -$40, add
$75 to your account ... what is the new balance?

Sign when
completed:




Solving equations

To solve an equation means to work out the
number that would go where the letter is.

Examples:
23+a=45, b+16:=32,
32-¢c=13, d-12:=34
Remember that the total on either side of the
equals sign, must be the same.

Use any strategy you like to solve
these equations. Be prepared to talk

about what strategy you used. ¥ >
@ 36 +a =82 a =
@ 109 -d =67 d =
3) e +94 =136 e =
) f-87 =46 f =
5 180 - h =93 hi =
(®) i+78=121 i =
™ mx 6 = 240 m, =
®) 350+n =70 n =
©) 400 x p = 2800 p =
(10) q+10 =78 q =
11) s x 40 = 320 s =
(12) ++5/=125 t =

Read each word problem, write an equation,
then work out the answer. There may be
more than.one way to writesthe equation.

13) Kate buys 20 books for $180.00 .
How much did each book cost?

(14) Emma spends $18.00 and has
$69.00 left. How much. money
did Emma start with?

(15) Mark is reading a book that has
142 pages. If he has 57 pages to
go, how many has he read?
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Name:

Sam can buy books by mail order. There is always
a $5.00 postage charge with every order.

This graph shows the cost of. )
buying books by mail order.

A Cost of buying books by mail order

50

45

40

35

Total 39
cost

20

15
10

0 >

2 4 6 8 10 12014 16 18 20
Number of books.purchased
Use.the graph to answer these questions.

(16) /How much does it cost to buy 10 books,
including postage:

(@7 How much does it cost to buy 10 books,
without the postage charge?

(18) What does.one book cost, without postage?

(19) » Write an equation that you could use to work
out'the cost of ordering up to 20 books by
mail order. Let n = number of books.

(20)"'Use your equation to work out the cost of
buying 20 books.

@7
A ’ ‘ﬂk\ The aim of this activity sheet is to revise the algebra skill
) '@ of solving equations using any strategy stages involving
% #» */-andx/=+numeracy facts.

Suggested HOME activity:

Make up word problems involving everyday events that can be written
as equations. Have your child write an equation for each problem.
Example: If | buy 3 C.D.'s for $36.00, how much does each C.D. cost?
If I have $30.00 and spend $21.00 on food, how much money do | have
left? (Equations would be 3x?=360r36 +3=?&30-?=21or21+?=30)

Sign when
completed:




Number patterns or sequences

AWS

Name:

Some number patterns or sequences are created
by adding or subtracting a given number.

Example: 3,10, 17, 24, 31, 38, 45, etc.
How was this number sequence created? \\\

Answer: Starting with 3, add 7
to each new number.

Other number patterns or sequences are created
by multiplying or dividing a given number.

2,4,8,16, 32, 64,128, etc.

How was this number sequence created?

Example:

Answer: Starting with 2, multiplyeach
new number by 2.

Look at each number sequence to work out how it
was created, then write the next three numbers
in each sequence. Describe how each number
sequences has been created.

Look at each number‘sequence,to work out how it
was created, then write the next three humbers
in each sequence. Describe how each number
sequence has been created.

@ 4,12, 20,28, ® 4,8,16,82,

@ 05,14,23,32, , © .5,25,125, , ,
3 83,77,71,65, (10) 5,10, 20, 40,

@ 96,88,80,7.2, 11 960, 480, 240,

As people enter a party, they are given a
spot prize ticket numbered from 1 fo 50.

A

~

1 253174 |5 |6 |78 9|10
11112 13| 14 | 15| 16 [ .17 | 18 | 19 | 20
21 | 22 ['23,/24 | 256 | 26 | 27728 | 29 | 30
31|32 |33 |34 |35 |36 |37 (/38|39 |40
41 | 42 | 43 | 44 | 45 | 46 |47 | 48 | 49 | 50

Ben's lucky number is 7, so,he started with the
7th person who got the first spot prize. ‘He.then
selects every 5th person, who also gets a spot
prize.
(5)  On the grid above, circle all ticket numbers

that will receive a'prize.

(6)  List the number sequence you created.

Word problem.

(12) A scoop of chips cost $1.35. MYk
1
Work out the number sequence \\l\“\%’i{\\!":ﬁ%
thatishows the cost of buying 1, ¢ \{H(&
2, 3,4 and 5 scoops of chips.
(13) How many scoops of chips can

you buy with $12.15?

¢ 3
(5@\\\ The aim of this activity sheet is to create number patterns
«1__® orsequences by adding, subtracting, multiplying or

«% #» dividing and work out / describe how they were created.

Suggested HOME activity:

Using everyday examples, create your own number patterns by adding
or subtracting a constant number from a starting number. Ask your
child to work out and describe how the pattern was created.

Example: If a hamburger costs $3.50, work out the cost of buying 1, 2,
3,4,5.... up to 10 hamburgers to create a number sequence.

7y  How many spot prizes were won?

Copyright © 5007 AWS Publications Ltd

Sign when
completed:




§ B3 Measuring units - length

Name:

In New Zealand we use the metric system.

In the metric system, the metre
is the basic unit for measuring length.

A meftre is about the length of a
long stride or about 3 times the
length of this page (A4 size).

<\

71

(1)  Name 5 objects you could measure using the

metre as the unit of length.

Metric units for measuring length.

kilometre

centimetre

1000 times longer than a metre

standard unit for length

100 times shorter than a metre

millimetre 1000 times shorter than a metre

Name 2 objects or distances you could measure
using the following units for length.

@  kilometres

(3) centimetres

@  millimetres

Converting between measurement units.

vy

1000 millimetres (mm) = 1 metre (m)

100 centimetres (cm) = 1 metre (m)

10 millimetres (mm) = 1 centimetre (cm)

1000 metres (m) = 1 kilometre (km)

Converting between metres.and millimetres.

5 25m-= mm @ __ m=7300mm

® 3.15m= mm @& __ m=4280mm

Converting between metfres and centimetres.

9 6.2m= cm (11) m = 740cm

(10) B5.75m =
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cm (12 m = 843cm

AWS

Converting between millimetres & centimetres.

(13) 15mm = cm (15 _ mm=9cm

(14) 125mm = cm (16 nmm = 7.8cm

Converting between metres and kilometres.

a7y 3200m = Km .(19) m = 6.3km

(18, 9540m = km (20) m= 2.71km

When adding and subtracting length
measurements, The 'units' must be the same.

Sam has two pieces,of wood,
one is 90cm long and the other isil.7m long.
Whatuis the total length of woed in
metres?  Answer: 0.9m + 1.7m = 2.6m

Add or subtract these length units.

(21) /900m + 3.5km + 300¢m = ? (answer in metres)
(22)  370cm + 2.3m+ 2500mm = ? (answer in metres)
(23) 720mm - 53.6cm = ?  (answer in millimetres)

(24) 810cm - 6.2m = ? (answer in centimetres)

(25) 2100m + 5.4km + 800m = ? (answer in kilometres)
(26) 1 93.6cm - 745mm = ? (answer in millimetres)

@1 4.3m+73cm + 310mm = ? (answer in cm)

3

@ . The aim of this activity sheet is to convert between the
=1 __® most commonly used metric units for length or distances -
<% #» i.e. metres, millimetres and kilometres.

Suggested HOME activity:

Demonstrate how long a metre is and ask your child to name at least 5
objects or distances that can be measured using each length unit (mm,
cm, m & km).

Ask your child to convert between units as above in Q5 to Q20 and

add or subtract lengths presented in different units, such as in Q21 to
Q27.

Sign when
completed:




g L2l Measuring units weight (mass)

In New Zealand we use the metric system.

In the metric system, the gram
is the basic unit for measuring weight.

A gram is a small weight. A packet of &(®
rice crackers weighs about 100 grams.

(1) Name 5 objects you could measure using the

gram as the unit of weight.

Metric units for measuring weight.

tonne 1000 times heavier than a kilogram

kilogram

milligram

1000 times heavier than a gram

standard unit for weight

1000 times lighter than a gram

Name 2 objects you could measure using the
following units for weight.

(2) ftonne
3  kilogram
@  milligram

Converting between measurement units.

il/

1000 milligrams (mg) = 1 gram. (g)

1000 grams (g) = 1 kilogram (kg)

1000 kilograms (kg) = 1 tonne (t)

Converting between grams and milligrams.

6 63g-= mg (7) g = 5200mg

(6) 428g-= mg ® ___ g=1290mg

Converting between grams and kilograms.

©® 57009 = kg @1 g = 3.2kg

(10) (12)

4260g = kg
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__ g=725kg

/7
Name: ’

AWS

Converting between kilograms and tonnes.

(13)  4900kg = t @as kg = 3.2t

(14)  9250kg = t @se kg = 2.18t

When adding and subtracting weight
measurements, the 'units' must be the same.

&

Joe has fwo piles of books, one weighs
96009 and the other weighs 14.7kg.
What is the total weight of books in
kilograms?  Answer: 9.6kg + 14.7kg = 24.3kg

Add or subtract these weight units.

(17) 8000mg + 6.2g + 0.5kg = ? ~(answer in grams)
(18) 4639 +0.25kg + 3100mg.= ?" (answer in grams)
(19) 5600g - 2.4kg = ?' (answer in kilograms)

(20) 10.7t - 9200kg =? /(answer in fonnes)

21) 7.3kg - 5950g =? (answer in grams)

(22) 8560mg -H5.9g =? (answer in milligrams)

(23) 10.75kg + 94g + 3700mg = ? (answer in grams)
(24)7 570g x 9 = ? (answer in kilograms)

25) 4.8g = 8 = ? (answer in milligrams)

°

( ,W\\ The aim of this activity sheet is to convert between the
- *_® most commonly used metric units for weight - i.e. grams,
«% #» Milligrams, kilograms and tonnes.
Suggested HOME activity:
Use kitchen scales to demonstrate how light a gram is or some other
object of a known weight. Then, using different sized objects, ask your
child which unit for weight would be the best unit to use.

Ask your child to convert between units as above in Q5 to Q16 and
add or subtract weights presented in different units, such as in Q17 to
Q25.

Sign when
completed:




m Measuring units volume (capacity)

Name:

In New Zealand we use the metric system.

In the metric system, the litre
is the basic unit for measuring
volume.

A litre is about 4 cups of water or
the size of some milk or juice cartons.

(1)  Name 5 objects you could measure using the

litre as the unit of volume.

Metric units for measuring volume.

kilolitre 1000 times more volume than a litre

standard unit for volume

1000 times less volume thana litre

millilitre

Name 2 objects you could measure using the
following units for volume.

@ kilolitre

@  millilitre

Converting between measurement units.

)
S J
i xoney

1000 millilitres (mL) = 4. litre (L)

1000 litres ()= 1 kilolitre (kL)

Converting between litres and millilitre.

@ bB3L-= mL (6) L = 8300mL

(5 294L-= mL (7 L = 6290mL

Converting between litres and kilolitres.

(® 6300L = kL (10 L = 9.3kL
9 7250L = kL @) L =/5.65kL
(12)  How many litres of juice is

6850mL?
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AWS

(13)  How many millilitres of medicine in

a 0.75L bottle?

When adding and subtracting volume
measurements, the 'units' must be the same.

Sam has two fins of paint,

one holds 850mL and thewother holds 10L.
What is.the total volume of paint in
litres?  Answer: 0:85L + 10L = 10.85L

Add or subtract thesevolume units.

(14) 0.5kL + 6300mL + 2.58L = ? {(answer in litres)
(15) 4.3k.+ 2100mL + 0.6L = 2 (answer in litres)
(16)«8.64KkL - 4500L = 2. (answer in kilolitres)

a7y 19250mL - 7.8L =2 (answer in millilitres)

@a8) 8.65L - 5820mbL.= ? (answer in litres)

19) 7.69L -4960mL = ? (answer in millilitres)

(20) . 3.9kL #4200L + 1500mL = ? (answer in litres)
(21 940L x 6 = ? (answer in kilolitres)

22) 6480mL = 8 = ? (answer in litres)

A _ K The aim of this activity sheet is to convert between the
. _ﬁb most commonly used metric units for volume - i.e. litres,
o #» millilitres and kilolitres.

Suggested HOME activity:

Using some containers or measuring jugs, demonstrate how much
| liquid is needed to fill a 1 litre container. Using different sized

containers, ask your child which unit for volume would be the best unit
‘ to use.

Ask your child to convert between units as above in Q4 to Q13 and

| add or subtract volumes presented in different units, such as in Q14 to
| Q22.

Sign when
completed:

L
|




Reading scales / measuring lines

All measurement instruments have
a scale. Being able to read the scale
correctly is an important skill.

What measurement unit is on this ruler?

What measurements are given by the pointers A
to D?

The measuring unit is millimetres (mm).
Answers: A = 25mm, B = 9mm, C = 42mm, D = 51.5mm

Look at this ruler below.
(1)  Name the units on the ruler below ...

millimetres or centimetres (circle one)

20

30 40 50 60

What are the measurements
given by the pointers GfoL?
Example: 24mm, 39mm efc.

2

6=__ J=
H= K=
I-= L=

(3) Mark and label the points of /A

to F on this.ruler.

A=27cm, B=43cm, C=59cm
D=9mm, E=34mm, F=17mm

10 50

L —

How long is this pencil? Answer in mm & cm.

Omm 20 30 40 60

4

mm is the same as
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cm

/7
Name: ’

AWS

(5) Measure these lines to the nearest millimetre.

6 ¢ B

Line AB=___ mm
F
Line €D = mm
E
Line EF = mm
A H
D Line GH = mm
(6) . Draw a 6.3cm line in the space below starting
at point X.
°
X

This diagramrof.a weighing machine's
scale shows the weight of a block.

What.is the weight of
the block?

anls
E%

)

(8 [Ifa47gblock is added
to the scales, what is

the new weight?

@ Draw an arfow on this scale to show 134g.

This diagram/of a measuring 60M L
cylinder has some water in it. —
(10) What aresthe units on the -
scale on this container? =
40mL=—
(11 'What is the volume of water
in‘the container?
22) Another 19mL of water is

added to the container.

Draw the new water level.

7,

I The aim of this activity sheet is to learn to read scales and
\\/. measure the length of small objects. Remember to
ﬁ-r/p measure from zero on the ruler, not the end.

Suggested HOME activity:

Find a collection of objects from around the house that can be
measured using a ruler or tape measure, kitchen or bathroom scales,
or measuring jugs. Ask your child to measure various objects using the
appropriate instruments.

Example: The width of a door is about 800mm, a cup holds 250mL ...

Sign when
completed:




A
E Geometry words & naming angles Name: AWS
"Turn clockwise!" said Geoff, @ A diagram of an angle is made up c
"Not that way, the other way!" of two lines (CD & CE) and a
"What angle size is that? asked point where the lines meet (C).
Ken. "Acute, obtuse or reflex?” This angle can be named using
“Are these two lines parallel or the three letters. D E
perpendicular?” asked Alf. Example: ZDCE or LECD,
& where the £ symbol means angle.

Do you understand the meaning of these
and other geometric words?

Use the words in the box opposite
to complete these sentences.

@  This arrow ( is pointing in

a
direction. q
egrees

@  This arrow ) is pointing in obtuse

an parallel

direction rotractor

. Z di

3 An isa iPgy-iciy

reflex

right

ruler
straight

measure of turn.

(4)  Angle size is measured in

G A Is used to measure
angle size.

® A is used to draw
circles.

"o A is used to draw and

measure straight lines.
8  Ananglesthat is,90° or a + turhis called a

angle.

9  Ananglethat is 180° or a 3turn is called a

angle.

(10) An angle is greater than
0° but less than 90°.

(11) An angle is greater:than
90° but less/than:180°,

12 A angle is greater than
180° but less than 360°.

(13) Two lines that cross at right angles are

(14) Two lines that are the same distance apart

are
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Look at this diagram.
F E

©
D
A B C
(15) “ Name the angle marked with a ©.
(16) ,On the diagram, mark 2EBC with an X.
(17) Name two linesithat are perpendicular.
(18 Name two lines that are parallel.
(19) Name at'least one ...
acute angle
right angle
obtuse angle
(20) +On the diagram, mark a reflex angle with the
letter Y.
(21)», Do the letters on this diagram label the

corners in a clockwise or anti-clockwise
direction?

ﬁ ; i, The aim of this activity sheet is to understand geometric
+1___® words and use these words to name angles, angle sizes
‘ o #2 and types of lines.
Suggested HOME activity:
| Look around your house and ask your child to identify geometric
| features associated with the words used in this worksheet.
Example: Is the pattern on the wall-paper is a clockwise direction?
Point to two parallel lines in this picture. Open the door so that it forms
an acute angle with the door frame. Point to two lines on the wall that
| are perpendicular. What angle does the wall and ceiling create where
| they meet? ... etc.

Sign when
completed:




m Measuring and drawing angles

Name:

The instrument for measuring and drawing
angles is called a protractor. There are two
scales on a protractor that you can use.
Example: Which scale do you use and what is
the size of the angle drawn below?

A
\\\\\\\\\\ iy,
0100 L 8o/ ////,/
v P 100 //oo so////////

A
ol
i

i

¥
:
0

Answer: inside scale and 60° (60 degrees)

(10) Add ZFKH, ZKFH and ZKHF.

What do these three angles add up to and
form?

Using the line already drawn, draw the following
angles to.the nearest degree, using a protractor.

1) LABC =50°

D E
A

B</C
A

v \\"J

Use a protractor.fo measure these angles.
1 ZEFG:= (5) «»LKHF =
@ ZHCG = ®, —ZJFE =
3) ZCFE= (@ ZKFH =
) ZFKH = ® » «DFE =

Use your angle answers above to
answer these questions.

(9 Add ZCFE and ZEF6G.

What do these two angles add up to and
form?
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A B

(12) «DEF = 140°

D E
(13)" ZLMN = 25°

M L

(14) ZRST = 105°

S R

2

)
G NS
Y ®

« 2

The aim of this activity sheet is to measure and draw
angles accurately using a protractor and come up with two
angle rules - angles in a straight line add to 180° and
angles in a triangle add to 180°.

Suggested HOME activity:
Ask your child to draw a straight line, with one line branching from the

middle, measure both angles and add the answers. Repeat several

times. Ask your child to draw a large triangle and measure all three
angles. Repeat several times.

Angle Rules: In both cases above, the sum of angles on a straight line
and the sum of angles in a triangle add to 180°.

Sign when
completed:




A
m Perimeter Name: AWS ’

Distance around the outside. (5) All sides of a square are the same length.
Imagine you are at the corner of a soccer field. If the per‘ime’rer ‘_)f a square is 36 metres,
If you walk along each side and back to your how long is each side?

starting point, the distance you have walked is
called the perimeter of the field.

Example: Words problems
X =
(6) £ Anew fence, the shape of a rectangle, is to
Add the length . Y
= 50m —+ —+ 50m be built around a swimming pool.
of ALL sides. If the sides are 4 and 10 metres long, j
. . A

e A what is the périmeter of the fence? 6\0’%{
The same number of small lines on each side means that A9rn V%:w :
the sides are the same length, i.e. opposite sides are equal.

\ - 4m

Look at each shape below and work out
the perimeter. Remember to include all ‘, 3

sides.
(7 »This diagram shows thefences around a
@ 5mm paddock. Work out the/perimeter of this
paddock.
50m
30m
50m m
Y 30m

Note:
Opposite 50m
@) 8m sides are
of equal . .
length | (® A courtyard has been built using 1 metre
20m

concrete squares, as shown in this diagram.
Work out: the perimeter of the courtyard.

+ + + =
11cm
9cm
9cm
3)
9cm
9cm
11cm

I, The aim of this activity sheet is to revise perimeter, ‘the
b distance around the outside'. All closed 2D shapes, with
.g. e» the starting and finishing point the same, have a perimeter.

A Suggested HOME activity:

Find some shapes around your house, for which you can work out the
| perimeter.

Example: The edge of a table, the boundaries of your properties, etc.
where the starting and finishing points are in the same place.

| { Ask your child to measure ALL sides of the shape using a tape

measure, ruler or their own feet. By adding up all measurements, you
C I = are working out the perimeter of each shape.

4 10mm — —

I Sign when
completed:
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Name:

"If you can paint it, it has AREA," said Robert.

This shape is made up of 1 row of 5 squares.

What is the area?

If the shape was made up of 4 rows of 5
squares, what would the area be?

Answers: 5 square units, 4 x 5 = 20 square units

How can you work out the area
of these shapes without having
to count all squares?

8
®) height

base

Work out the area of each rectangle (A = bh).

Work out the area of these
rectangles by first counting the
number of squares in ONE row.

(€
1row = squares
Area = rows of = squnits
(@)
1row = squares
Area = rows of = sq units

The diagrams below.are‘not drawn to scale; but
imagine that each square.is 1 square metre.

The units for your answers will be ‘'square m'.
(Could be written as 'sq m' or m?)

Work out the area of each rectangle or square.

3) )
3m 2m
6m

5m

4 (6)

4m 6m

5m 8m

@)

6m

12m
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9) (12)
3cm 11m
5cm
5m
(10) (13)
10m 20cm
(11) (14)
12cm
om 10m
4cm
(15) What lis.the area of a rectangle with sides
ofi8 centimetres and 11 centimetres?
(16) "What is the area of a square which has sides
of 10 metres?
@n. Tfa square has an area of 49cm?, how long is

each side of the square?

LG

A m"‘ The aim of this activity sheet is to revise the concept of

_ . area. For squares or rectangles, area is the length of the
.@ﬁ,, base multiplied by the length of the height (A = bh)

Suggested HOME activity:

Draw shapes on maths paper and ask your child to work out each area
by counting or estimating the number of squares.

Ask your child to work out the area of a shape given how many
squares in ONE row and how many rows. Such a shape is called a
rectangle or square.

Example: If 1 row is 5 squares long, what is the area of a rectangle
made up of 3rows. 5+5+5=150r 3 x5 =15 sq units.

Sign when
completed:




m Volume

Name:

>
S

If you can fill it, it has VOLUME.

N L5l
[ﬁ'l g' \' QI
This big box is o be

filled with smaller boxes
(cubes).

Cubes have already been
stacked at one end.

(6

Area = ’]5m2 Area = 15m2

()

The end stack of this 3D shape is called
the cross-section of the shape.

For this 3D shape, the

(1)  How many small cubes are

in this end stack? cubes
(20 How many stacks of cubes
will this box hold? cubes

Work out how many small cubes this big box
will hold, called the volume of the box.

3

cubes
4 Inasecond box, the end
stack can hold 12 cubes. o
If there are 6 stacks, how =0

many cubes can this box:hold?

cubes

volume can be worked A
out if we know three height |
measurements.... g o

\/ y depth
the base, the height and «55;(;?
the depth.

Volume = base x height x depth

Work out. the volume of these simple 3D shapes.

If you know the area of the cross-section of a
3D object, the volume can be calculated using
the rule ...

Volume = Area of cross-section x depth

Area of
cross-section =—> Volume ,
20m? 20 x5 = 100m

<— 5m —>

Work out the volume'of,these objects, given the
area of the cross section and the depth. The
volume units are written asy.. mm®, cm? andim®.

G

(8)
5cm
5cm
10cm
Volume = X X
y cm’
9)
70cm
40cm
Volume = X X
= cm’
%

A . The aim of this activity sheet is to revise the concept of
o & volume. The volume of a simple box shape can be
«» #» Worked out if you know the base, height and depth.

Suggested HOME activity:

Find a selection of boxes around your home. Ask your child to
measure the base, height and depth of each box. Use these
measurements to work out the volume of each box.

Example: A shoe box, a match box, a cake tin etc.

Sign when

Area = 10m?
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Time

Name:

AWS

The time on this analogue clock is
20 past 8.

Not all clocks have hands.

Some clocks use only numbers and
are called digital clocks.

This is 20 past 8 on a digital clock ...

When writing 24hr digital time, 12 is added to
all times in the afternoon.

Example: 2:45 a.m. would be written as 0245,
whereas 2:45 p.m. is written as 1445.

Write in the missing ftimes, a.m.;p:m. or 24hr.

_am or p.m.time || 24hrtime

Draw the hands on the analogue clock or
show the time on a digital clock or write
the time in words.

®

quarter past nine

@

3

What is the new time?

A roast turkey takes 33 hoursito cook.
If it went info the oven at 4:50, (@
when will it be ready? (answer in words) @

(C)

(5) If a45 minute TV programme
finished at 25 past 6, at what time did it

start? (answer as digital fime)

(6)  The school play lasted for
12 hours and finished at
twenty past seven.

At what time did it start?

(answer on this clock face)
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4:37 a.m. > (D

(8) €« 0645
11:06 p.m. =2 (9

(10) € 1353
11:55 amm. = |(11)

(12) € 2248
12:08 a:m. =2 | (13)

The numbers of this didgram show
the time (minutes) it takes for a
trainto travel betwéen stations.

Central Station Station B Station D

13\ Station A /:7 /:6
14) Ifsthe train leaves =iaion s

12

Station C

at 11:200a . use Central Station | 11:20 a.m.
this table to work |Station A
out the time the |Station B
train arrives at Station C
each station. Station D

15) 'How long is the trip from
Station A to Station D?

m\{\ The aim of this activity sheet is to work with time, convert

) # between analogue and digital time, describe time as a.m.
<% £ OF p-m., 24hrtime and prepare a timetable of events.

Suggested HOME activity:
Use both analogue time and digital time, ask your child to convert
between a.m. / p.m. time and 24hr time.

Example: 10 past 5 in the morning is the same as 5:10 a.m. or 0510

Make up a timetable for a bus or train route. Ask your child to work out
how long it takes to get between stops.

Example: How long is the travel time if | get on the bus at 7:56 a.m.
and get off at 9:07 a.m.?

Sign when
completed:




m 2-D and 3-D shapes

®

Name these 2D shapes using the
words on the box below.

Shape

Name of shape

o

-

——
(]
-~

octagon, oval, hexagon, square, diamond,
or rhombus, pentagon, circle, rectangle, triangle

shapes.

onh a circle.

Example: A cylinder isbased

50c coins on top of each other,
it would look like a cylinder.

The 3D objects are based on many of the 2D

If you stacked some

20 Name these 3D objects usingthe words in
the box below:
Shape Name of shape

cylinder,

cone, cube, rectangular prism (box),
sphere (ball), triangular prism

Name:

This block of cheese has been
sliced as shown.

What shape would the sliced

end look like? l:

Answeriha triangle
If you cut through an object, you see a
cross-section of the object.

sliced here

Look at these objects and déscribe what.2D shape
youwould see if they were sliced along the dotted
line;

v |
y 3
®) W&RGEARN*
. Y 4 A agaan®’
) Draw a line onthis 3D shape -
so thatwhen it is cut, the -
cross-sectional 2D shape
credted would be an oval.
(8).. Draw a line on this 3D shape
so that when it is cut, the
cross-sectional 2D shape
created would be a triangle.
(90 Draw a line on this 3D shape
so that when it is cut, the
cross-sectional 2D shape
created would be a rectangle.
3

;ﬁ‘\ The aim of this activity sheet is to revise the names and
— features of simple 2D and 3D shapes.

d T»
Suggested HOME activity:
Select one of the 2D or 3D shapes on this activity sheet. Describe the
shape by it's features and ask your child to draw and name the shape.
Example: | have four corners, all my four sides are the same length.
(Answer: It could be a square or a rhombus)

Sign when
completed:
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m Reading map (grid) references Name: AWS

"Where is Talbot Hospital?" asked Alex.

The map below is divided up into squares. _;
Along the sides of the map are numbers Lﬁi’i\k\
and letters. By using these numbers and e

N2
letters, you can find a place on the map.
Answer: Talbot Hospital is in the square 1B.
1B is called a grid reference.

Tirmary Ba,
High Sehoal

Use the grid references ofithis map above to find
these streets or places.. Some answers may bé
more than one gridireference.

(1)  What park is in.the grid
reference 2E?.

(2 Name the grid reference
for Roncalli College.

(3) Name the grid references
for the bowling clubs.

On the map, north is marked by the arrow. Use
the compass bearings toranswer these questions.

4 Is the playing field in4A north or south of
Timaru Girls High School?

() Is Fraser Park northior south of TimaruBoys
High School?

(6) Name the school that is east of the bowling
club on Hassall Street.

(7 Name a street that runs parallel to North
Street, but is south of North Street.

Battleships is a game played on a grid, using grid
references to find where
ships have been placed on
the grid.

On whdtsquares is this e
battleship placed?
Answer:. 2B, 3B and 4B 1 2 3 4

Below is.a battleship grid where ...
S ='submarine (1 square),

D= destroyer (3 squares),

A = aircraft carrier (4 squares)

J
| s A
H A
G D| DD A
F A
E

D

c{p|p|p s

B

A s

L1218 14 /506/[7/[8]09]10

(8) Mark these squares on the grid with an X.
9A, 8H, 46, 3B, 8F, 66, 97, 1F, 2B, 56, 10B

(9) / Name any ship you have crossed out.

(10) » Write the grid reference for where the
aircraft carrier and submarines are placed
on the grid.

=50

‘ -  Theaim of this activity sheet is to learn how to locate places
@ _ k onamap that has been divided up into squares or grids and
P # describe the position using compass bearings. The
| a» &2 numbers/ letters along the side are called grid references.

Suggested HOME activity:

| Using a city street map or country map, ask your child to locate various
places using a grid reference.
Create your own maps divided into squares or girds on which points
can be located or play a game of battleships as above.

Sign when
| completed:
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m Finding location using co-ordinates

A map grid reference, such as 4A, A
refers to anything within the area. 7

However, when a mathematical graph is drawn
and co-ordinates are used, the co-ordinates
refer to exactly where the lines cross.
Example: A=(21),B=(41)and C=(1,4).

Each pair of numbers in v
the brackets are called \
order-pairs or co-
ordinates.

The first number (x-
axis) is across and the
second number (y-axis) T
is up / down. 0 1.2 3 4 5

N W A~ O

What are the co-ordinates for the point/D
Answer: (4,3)

Name:
Y
10 A
9
8
7
6
5
4
3
2
1
X
0 1.2 8 4 5 6 . 8 .9 10
Plot each set of points on the graph, joining the

On this graph there are various
mathematical shapes drawn.

points in order with straight lines.

6 4 (23),(1,6),(1,3) and (2,3)
What shape have you drawn?
10
9 ‘ ©._ (59),(39),(37).6.7)and (5.9)
8 What shape have you drawn?
7
S What shape have you drawn?
‘ A
° ® 4 (9/4),(95), (5.5), (5.4) and (9.4)
2 k What shape have you drawn?
A
X
What shape have you drawn?
(1)  What shape is at the point (4,5)?
@7
7] Werite the co-ordinates to locateall.the | @™ The aim of this activity sheet is to introduce ordered pairs,
%,, ‘u}\ known as the co-ordinate system for locating points on a
squares. Y= graph. Note: Order is important .... (x,y) or (across, up/down).
o &2
- . Suggested HOME activity:
3 Write the co-ordinates to locate all the Using maths paper, create a graph on which points can be drawn.
ircl Having marked points on the graph, ask your child to locate each
circles. point, describing each position as an ordered pair or co-ordinates.
Create some ordered pairs and ask your child to plot each point on a
(4)  Wprite the co-ordinates to locate all the new graph, such as above.

triangles.

Sign when
| completed:
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. . A
% B Rotation & reflection Name: AWS
When talking about rotation, we use words For a shape to be reflected, A
such as clockwise, anti-clockwise ... there must be a mirror line (m).
... quarter turn and half turn The mirror line is often shown
to describe how an object has as an arrow.
been moved.
Examplé: \The shaded triangle | v
m

Describe how each arrow or pattern has been
rotated. The black arrow is the new position.

@ ﬁ» @) ¢ @

(3

(=

C

(=

J

(object) has been reflected fo its new
position, the black triangle, called its image.

To rotate a shape or an object, you need an
angle of rotation and a centre of rotation.

Example: The shaded triangle
(object) has been rotated # turn
(97 ) clockwise about point £.

The new postion of the triangle is
the black shape, called the image.

IE

Draw the new position of each shape after. it has
been rotated as directed.

4

()

Rotate this shape a half
turn (180°) clockwise
about poifnt.C.

Rotate this shape a
quarter turn (90°) anti-
clockwise about pointiC.

G (7

Rotate this shape a half
turn (180°) anti-
clockwise about point C.

Rotate this shape a
quarter fturn (90°)
clockwise about point C.

Copyright © 5007 AWS Publications Ltd

Draw a line(s) to show where/the mirror._line(s)
would go.to reflect these shapes.

®

9

Draw the new positionof each shape after it has
been reflected in‘the mirror line.

A ¥
@€2) - a4 |»
m
v -
m m
-
13) (15) g
-
m

0

™ The aim of this activity sheet is to revise rotation and

\. reflection. Rotations can be described using various
<% £ Words and reflections require a mirror line.

Suggested HOME activity:

Looking around your home, ask your child to point out designs that
have been created by either rotating a pattern or reflecting a pattern.
Example: Wallpaper or floor tile patterns.

Ask your child to create their own designs using rotation or reflection
and have them describe how they created their design.

(]

Sign when
completed:




E Translation & enlargements

Name:

This grey triangle (object) has
been moved by sliding it to a
new position (image).

Example: 3 squares right, then 2
squares down.

v

Such a movement is called a translation.

Describe how each grey shape (object) has been
translated to its new position (black image).

@ A
@ B
® C
@ D
(5) Draw the new position of each shape after it

has been translated.

Shape E - 3'squares right,2 squares down
Shape F - 4 squares left, 1 squares up
Shape G -2 squares right, 3 squares up
Shape H -1 squares.left, 4 squares down

Copyright © 5007 AWS Publications Ltd

Sam used maths
paper to draw this
small grey triangle
(object) twice as
big (black image).

Each.side of the triangleis twice as long and has
been enlarged by a scale factor of 2.

Draw each shape after it has been
enlarged by the scale factor given. ‘%

-

(6)

scale factor= 2

)

scale factor = 3

Look at the enlargement below and work out the
scale factor. The grey shape is the object.

8

" scale factor =
[ R R B

4
@ The aim of this activity sheet is to revise translation and
/}7 N\ enlargement. Translation involves sliding the same object
g 1, toanew position. For enlargement, the shape changes
- &2 size but does not slide, flip or rotate.

Suggested HOME activity:
Looking around your home, ask your child to point out groups of
objects that demonstrate translation or enlargement.

Example: A picket fence, strips of wallpaper, a line of bottles in a row.

Draw various patterns that involve sliding or translation and using
maths paper, draw designs involving enlargement.

Sign when
completed:




E Conducting an investigation

"Which sport do pupils in Room 5 like to play
more, soccer or rugby?" asked Sam.

To answer this question, Sam conducted an
investigation by asking a simple question ...

“Do you prefer to play soccer or rugby?”

Consider this question ...

“"Which is the most popular TV programme €=
that pupils in your class watch?"

(1) As you investigate this question, how
would you collect, record and organise

your data?

2  What data displays or graphs couldyou

use to display your results?

() Draw the table that you would use to
collect the data and either collect some

data or make up some data.

Name:

AWS

()  Draw a column graph, pictogram or dot plot

to the display your results in Q3.

(5)  Write one statement about your results.

Avondale Tntermediate investigated ...
"What winter sport dopupils./ike best?"

S ='soccer
R = rugby
H = hockey
B = basketball
S H R S R S R
B R R /S R B R
S R B[ HIR S s
R R_S. S H H B
6) Look'at the results of their investigation.
Write 4 points based on these results.
ia .

I The aim of this activity sheet is to look at ways a simple

;; ‘® investigation can be conducted and at the ways data can
«v #» be collected and displayed.

Suggested HOME activity:

Make up an investigation. Ask your child to come up with questions
that could be asked, who is going to be asked and how the data is to
be collected and displayed.

Example: What is the most popular holiday place in New Zealand?

Sign when
completed:
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m Sorting data using tally charts Name: S

Mr McGregor has been growing tomato plants for
years.

This tally chart shows the
number of cats and dogs

Room 5 pupils have as pets. Pet Y LTotal One day he counted the number of
How many pet cats and cat W M| 2 tomatoes on each plant.

dogs do they have?
Answers: 12 cats & 8 dogs

These were his results.

dog Mt Il ?

(Remember M = 5) ? Number of tomatoes per plant
8,7,8,9,10,6,6,5,8,6,4,6,8, 7,
Ryan conducted a survey. 9,4,5,6,9,5,7,4)10, 9, 5, 8, 9, 10,
He asked pupils in Rooms 7 and 8 ... 5,6,9,57,8,6,7,10,7,5,6, 8,9,
"How many pets do you have at home?" 6,7,8,7,9/6,7,7,6,8,9,10,9, 7,

@)  Use the Number of pets @  Complete the tally chart
tally chart | 2,3,1,4,6,2,3,5,1,4,2, below to.organise this data.

below to 3,4,1,2,0,2,4,1,2,3, 3,

oraanise Number of
hg d h 3,2,1,3,3,0,3,4, 152, 3, tomatoes per Tally, Total
The e 2.3,1,4,1,5,4,0,2, 3,1, plant
collected. | 3 2 50,2,3,5,2,5,40 4
Make a mark in the tally column next to each 5
number as you go through the listiabove.
Number of
pets Tally Total
0
1
2
3
4
5 9) »What was the most common number
of tomatoes on each plant?
6 (10) ' What was the least common number
of tfomatoes on each plant?
@  How many pupils had 2 pets? (11) ~How many tfomato plants did Mr
McGregor have altogether?
(3 How many pupils had 5 pets? &

W‘ The aim of this activity sheet is to organise and sort data

(4) What was the most common number ‘(‘ B using tally charts, then answer questions appropriate to

y & e the data.
of pets pupils had? -
Suggested HOME activity:

(5) What was the least common number Collect information that can be presented in a table. This may require
. you to ask extended family or friends to answer some questions to
of pets pUpIIS had? collect the data. Then ask your child questions that relate to the data.

Example: A table showing favourite foods your family / friends eat.

Create your own tables, with made up data and then ask your child to
talk about the data in the table.

(6)  How many pupils had 7 pets?

(7 How many pupils did Ryan survey? Sign when

completed:
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E Column graphs, pictograms & dot plots

Data can be displayed in many ways.

This column graph shows the
number of pupils in Room 7
who play softball (S) and
cricket (C) on Saturdays.

®

How many play
softball and how
many play cricket?

players

softball (S) =
cricket (C) =

S C
Sport played

This table shows the q
number of sunshine hours Sunday !
per day for a week. Monday 4
Tuesday 5
(2 Complete this column | Wednesday | 6
gr'aph using the data in Thursdqy 9
the table. Friday 8
Saturday 10
10
9
8
Number ’
of 6
sunshine 5
hours 4
3
2
1
0

S M T W T F S

Days ofithe week

How many hours of sunshine were
there on Wednesday?

(3

)
(G

On which day was‘it sunny for 8hrs?

How many hours:oef sutishine occurred
this week?

This pictogram shows |
the number of pet
cats and dogs Room 3

Key: 1picture = 2 pets

pupils have.
(6) How many pet cats and cats =
pet dogs do they have? dogs -

Copyright © 5007 AWS Publications Ltd

Name:

>
&

This table shows the number of vowels
used in the first 50 words of a novel.

a e | o] u
Total | 48 | 42 | 33| 27.| 18
(7) Drawa o
pictogram
using the |
data inthe i
table. o:
u-

Key: 1 picture'= 6 vowels
This dot plot graph
shows the number of

Rooms 2 & 3 boys and

20 A girls who like surfing
boys and girls in X
Rooms 2.& 3 who like °
Sur‘fing. 10 : °
° °
° °
° °
° °
( 0 >
A boys girls
@ How many b.oys cmd‘how boys =
many girls like surfing?
girls =
(9) Draw.a dot plot graph for the data in the
table below.
Fruit | Total 10
- 7 Total
s 5
< | 10
& | 5 -
© € i< Ee

The aim of this activity sheet is to create three different

‘ ; ' data displays - a column graph, a pictogram and a dot plot
<% #» graph, and answer questions appropriate to the data.

\ Suggested HOME activity:

Using data collected from around your home or the data in the tally

| charts in Worksheet 34, have your child create some column graphs or
‘ pictograms. For pictograms involving large groups of data, each
picture can be worth more than one.

| Example: If there were 30 items, by making each picture worth 5, only
6 pictures would be drawn.

| Sign when

| completed:




m Stem and leaf graphs & time series graphs

Name:

AWS

A stem and leaf graph looks a bit like a leaf.
Example: Robert weighed 12 tomatoes, fo the
nearest milligram.

19, 21, 18, 32, 28, 17, 25, 23, 31, 24, 26, 16

The second numbers form

As these numbers are in the 10's, 20's

and 30's, the numbers 1, 2 and 3 go in
the 'stem’ part of the graph.

i

11987 6 <« the 'leaf’ part of the
2|1 I8 I5 13 4 6 graph and are added fo
3 2’ 1' Y the graph in the order

’

listed.

Data that changes with time can be graphed on a
time-series graph.

Example: Jodie has been unwell. She recorded
her temperature every hour for 6 hours.

These results are shown on the graph.

Jodie’s Temperature
Temperature - 44
in

degrees 39
©)
37
35
1t ——t—t—1+>
1.2 3 4 5 6

Time (hours)

What was Jodie's highest temperature? (39°C)

Matthew recorded the number of runs each
batsman scored in a cricket match, in a stem and
leaf graph.

~N O

~

Ol D W N =
w 00 00 W O1 N

on

’

(1)  How many runs did.each batsman score, as

shown in this'stem and leaf graph?

(2 What was. the highest score?

(3 What was the lowest score?

(@) How many runs did the teamiscore

altogether ?

W

()  Draw a stem and leaf graph for
the numbers in this'box.

(Note: The firsttwo.digits go in the stem.)
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Starting on Sunday, each day for a week the air
temperature (°C) at the airport at.6:00 a.m. was
recorded. These were the results.

4°C,.-3°C | 0°C | -226| 7°C | 4°C | -1°C

6) Complete the time series graph by plotting
the data in the table; joining each point with

a straight line.

A

Temperature
(’C)

Daily Temperature at 6:00 a.m.

4

Days of the week
What was the temperature
onh Thursday?

What was the difference in temperature
between the coldest and warmest morning?

%7 k  The aim of this activity sheet is to understand and draw
*__® stem & leaf graphs and time series graphs.

O

‘ Suggested HOME activity:

Collect or make up data that can be presented as a stem & leaf graph.
This is normally a list of data numbers that have been collected by
counting or measuring something. Create some stem & leaf graphs.

Collect or make up data that can be presented as a time series data.
Time series data change over time, such a temperature, heights of
plants or the weight of a pet etc. Create some time series graphs.

$
|
L

‘ Sign when
| completed:




Finding the mean (average) and the range = Name:

Here are four piles of blocks.

If all piles had the same number
of blocks, how many blocks would
there be in each pile?

Add the number of blocks in all piles (5 + 2 + 4 + 5 = 16),
then divide your answer by the number of piles (16 + 4 = 4).
Answer: 4 blocks in each pile.

By doing this, you are finding out the ‘mean’ or
average number of blocks in each pile.

In arunning race, the fastest time was 39
minutes and the slowest time was 57
minutes.

The difference between the fastest
and slowest time is called the range.
Example: 67 - 39 = 18 mindtes.

In this running race, the range of the times was
18 minutes. (Range = largest number - smallest number)

Work out the mean or average of each

group of numbers.
Question 1 has been done for you.
Add up all 4 numbers, then divide your answer by 4.

@ 9,56,8 9+5+6+8=24 24-4:=6
@ 8,10,6
® 5,9,10,8

@ 5,12,8,9,11

5 13,5,10,12,5

6 18,14,16,12

™ 33,29,31

® 63,143,97

o 18,13,8,2, U

(10)

143, 161, 116

Jack likes/to go for bike rides in the weekend.
The distances of his bike rides'were for 13, 21,
17, 32, 20 and 29 kilometres. :

(11) How many bike rides

did Jack go on?

12) What is the total distance that
Jack biked during hisrides?
(13) What is the/meandistance of

Jack's bike rides?

Jody recorded the money she was paid
for baby sitting , as shown below. i

$12, $15, $10, $18, $23, $17, $15, $20, $23

Work out the mean payment for
Jody's baby sitting.

(14)

005, o3
_>dar
=52

Work out the range of each group of numbers.

@s)  10,6,7,9,11,7,8,5, 3 171-3=
(1e) 11,17,23,31,9,12,15, 8,10

a7 43,75,92,34,17,20,74

(18) 86,44,73,622,94,53,16

(19) 62,95, 120, 53, 242,77

(20) (74,23,99, 134,451,315, 19

Some of the pupils in Room 3 have
had their weight measured in
kilograms, as shown, below.

57.3, 46.8, 41.7, 62.7, 55.3, 49.1, 48.7, 50.2, 44.5

(21)

Work outthe range of
weights for these pupils.

The lowest daily temperature for a
week isshown in the table below.

o

12°C, 5°C, 9°C, 0°C, 3°C, 6°C, 5°C

(22) Work out the range of

these temperatures.

&
““\\ The aim of this activity sheet is to work out the mean or

«ﬁiﬁ average for a list of numbers or scores and work out how
«% #» Spread out the scores are, called the range.

Suggested HOME activity:

Collect or create a list of scores (numbers) and using these scores,
work out the mean (average) and range of the scores.

Example: The hours spent playing computer games etc.

We sometimes call the mean the ‘average’, but there are two more
types of ‘averages’ called the medium and the mode, that you will
learn about on the next worksheet.

Sign when
completed:
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m Finding the median and the mode

Name:

AWS

Another type of 'average’ is called the median.

The median is the middle score, once the scores
have been placed in order from smallest to

largest.

Example: 3,4,6,7,8,9,13,21,35 @
As these scores are in order, start counting one
score of f each end until you reach the middle.
The median (middle) score for this list is 8.

Another type of 'average’ is called the mode.
The mode is the most common score.

Example: This list shows theshoe size of shoes
sold this week.

7,9,8,9,66,10,9,8,9,10,9,7,9
What'isithe most common size sold?

The most common size was 9, therefore the
mode for these scores is 9.

Work out the median for each list of scores.
Remember the score MUST be in order from smallest to
largest.

@ 5,8,15,18, 23

@  8,10,13,18,19,27, 33
® 21,29, 35,37,48, 53,67
@ 21,14,18, 26, 32

(6) 45,23,56,76,13,26,9

There can be more than one mode for a list.

Work out the mode for each list of scores:
There may be more.than one answer.

(12) 4,4,5,5,5,6,6,8,9,9,11
3 10,10,8,9,5,8,9,7,8

(14 »18,7,9,10,7,8,7,10;11, 10,7
(15).5,3,7,5,3,5,3,5,4,6,8,3
(16) (10,7,9,7,5,10,5,7,2,10,5

If there is an even number of scores,

there will be two scores left in themiddle.

The median is half way between these scores.

Example: 5, 6, 9, 13 (6 & S.are in the middle)
Median = 7% (6+9 =15 15+2=7%)

o B

Every time a T-shirt is sold, its size is

noted. Below is a'list of the sizes sold.
S—

12, 10, 8, 8, 12, §, 8, 10, 10, 8, 12, 8

Work out the median.for each list of scores

6 11,13,19,24

™ 7,11415,25,32, 41

® 13,19,26,42,57,69,75,79
@ 25,16,32,19

(10) 32,45, 12,56, 18767

In one week the pupils in Room 7 each
read some books, @s shown.below.

41,3, 2 3,412 3, 2,4 2 3

(11) Work out the median number of books read?
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(17) Work out the mode
size'for the T-shirt sales.
(18) Work out the median T-shirt size?
(19) “Which average is more helpful to the shop

keeper, the mode or the median? Why?

<
The aim of this activity sheet is to work out two different
types of ‘averages’ - median and the mode. The median is
the middle score, given the scores are in order. The mode
is the most common score (there may be more than one).

P

< o

Suggested HOME activity:
Collect or create a list of scores (humbers) and using these scores,
work out the median and mode of the scores.

Example: The height of people in your family or their shoe sizes.

Depending on what you are dealing with, one type of ‘average’ will be
more suitable than another.

Sign when
completed:




. . A
Finding outcomes Name: AWS ’
An outcome is what happens g‘% § Tree diagrams are another H
when you have a choice. ; way of working out all possible H <
Sometimes finding all possible outcomes can be outcomes. < T
difficult. Using a box or grid can help. Example: Two coins are . < H
Example: Two coins are tossed in the air. tossediin the air, list all T
: ossible outcomes. i i
Head (H) | Tail (T How many p - Istcoin  2nd coin
Head (H) | HH = T —— By followmgkeac:\ t;lr'an:h of the tree,
: are there? you can work out all outcomes.
Tail (M) | TH A @ Answer: HH, HT, TH, TT (4 outcomes)
Answer: four ... HH = head/head, HT = head/tail, etfc.
Carol has a choice sugar

This grid shows the choices Mark had as
to when he would go to the movies and
what type of movie he would see.

Friday (F) Saturday (Sa)
Horror (H) H/F H / Sa
Comedy (C) C/F C/ Sa
Action (A) A/F A / Sa

(1) If Mark's choice was C/ F, what does it
mean?

(20 How many choices (outcomes)
does Mark have?

For lunch, Aimee has a choice of either a ham roll
(HR), a salad roll (SR) anda choice of either an
apple (A), an orange (O);a pear (P) or a banana (B).

(3)  Guess how many possible food
choices or outcomes you think
Aimee has for lunch?

(4)  Draw.a tableto help work out'what Aimee
canskat df lunchtime. (Write letters only)

5) What does SR/O mean?

(6) List all possible choices.

(7 How many choices (outcomes)
does Aimee have?
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<
<7

(8)  Write in the missing words To complete this
treediagram to show all'possible outcomes.

tea

of tea or coffee,
with or without

(9 (Use the tree diagramfo list all possible
choices or outcomes

Andrew has to make a dentist’s appointment
for either Tuesday, Thursday or Friday,
either in the morningor the afternoon.

~

(10) Draw a‘free diagram fo show all possible
outcomes.
(11) How many possible

outcomes are there?

$
The aim of this activity sheet is to work out all possible

A
;ﬁ‘. outcomes given an event using grids or tree diagrams.

7 The event can be as simple as tossing a coin, where
< 2 ihere are two possible outcomes, heads or tails.

Suggested HOME activity:
Create events that involve choices which your child can use grids or
tree diagrams to name all possible outcomes.

Example: You are allowed two jelly beans from this packet. List all
the possible colours the jelly beans could be, i.e. red/black, red/white.

Sign when
completed:




m Simple probability

Name:

In Room 7 there are 32 pupils.
What is the chance or probability of
being selected class captain?

As there are 32 pupils in Room 7 and only one
pupil can be captain, there is 1 chance in 32
of being class captain.

Written as 1 out of 32 or '/3..

>
>

These number cards are to be used for
a game of memory.

'

1) If there are 500 tickets, what is the chance
of winning first prize?

out of or

2 Mark has bought 20 tickets in a raffle.
If there are 800 tickets, what is the chance
of his winning a prize?
out of or,
3) If youbought 2 tickets in a raffle.and have

a 1 out of 300 chance of winning a raffle,
how many tickets are in the raffle?

(4)  If you roll asix sided die (dice),
what is the chance that ...

... the number 1 comes up?
outof or
... an even number comes up?
outhof or
... The number 7 comes up?

out of or

2)3)1)3)5)]5]2)4
114)2]4)]1]5]1)]3]4
a4l 4)5)3)4]2]5])2]12
2)4)1)3]4)1])4)2]4
112 5]414]14]15]4] 2
©  How manynumber 3 cards
are there?
(10) How many number 1 cards
are there?
(11) How many number 5 cards
are there?
(12) ‘How.many number 2 cards
are there?
(18) (How many cards are
— there altogether?
n“:ﬁl- (14)s What is the charice of turning over a number
5 card?
out of or
(15) What is;the chance of turning over a number
3 card?
_ outof __ or
(16) The cardyou have just turned over had a
chanceof /45 or /3 of being selected.
What number was on the card?
(17) |Why.do you have a greater chance of turning

(5) Inabagsthere are 120 marbles.
If the chance of taking a white

marble out of the bag is /3

how many white marbles are<n the bag?

6) If acoinis tossed 100 times,
how many times would you expect
the coin to land showing heads?

(7)  Using a coin conduct this experiment.

Toss the coin 100 times Heads Tails

and record your results.

®8)  Were the results
what you expected?

Total = Total =

Copyright © 5007 AWS Publications Ltd

over a number 4 card than a number 2 card?

o

m\‘\ The aim of this activity sheet is to investigate simple

“1( ' probability, working out the chance of something
Q;rﬁ, happening. Probability can be expressed as a fraction,
~ such as ¥, which means one out of four.

Suggested HOME activity:

Create similar questions as on this activity sheet to reinforce simple
probability.

Example: Place 5 red, 3 green and 2 white blocks in a bag.

Ask your child to select a particular coloured block and describe the
chance of selecting that block ... 2 out of 10 chances (a white block).

Sign when
completed:




Curriculum Strand Worksheet Answers

() [a4]1]7]e]4]0 (1) 100s=1,105=3, 1's =4, (1) 100 +13=113 @) 60 - 4 =56
8 los =8, 1005 =4, 110005 = 4 _ _
Number = 134.844 @3] 100 + 80 =180 ) 200-2 =198
o (2) 1005=6, 105=4, Ts=8, 3) 1000 + 49 = 1049 3) 240 - 5 = 235
o woe =3, Toes o 02T | 4y 3000+ 116=3116 | | (4)  380-4 =376
d—- (3) 1005=6,105=3, 1’5 =0, (5) 70+70+5=145 (%) 78 +39 =117
2 wios =9 Jops = 1 fows =411 6) 90 +90 +7 =187 (6) 98+ 154 = 247
@ FT+E£++1 @ 110+ 110+9=229 | | (7). 69+ 235 =304
L ITETLE (8 340+340 +11=691| {(8) 216 + 126 = 342
; s e ) __ 130+45=175 (9) 1 478 + 463 = 941
6 © Vs 0.04 | | @9 52+280=332 (10) 74-40 = 34
4]0 © 10 20 (11) %460 + 32 = 492 (1)  196-90.= 106
8 — =
. Sight point thres @ 1000’ 5000 a2) 70+ 637 =707 12) 349 - 60.= 289
_ _ ®) s 0.3 (13)] 500+400+20+30+3+7=960 | | (13) 907 - 100 = 807
(3)  six hundred and five © T's 3 (14) 700+200+60+30+5+4=999 (14) 798 -150 =648
(4)  eighty-nine point six 10y 100’ 600 (15) 800-300+80-50+7-4=533 (15) 96
(5) nine hundred and (11) i0's 0.8 (16) 700-500+40-10+9-8=231 (16) 52
o oempmime | an  w0s a0 | |en 20-gEmei | an A
© hundred and t’hirteen 13)  oo's 0.07 (18) 520:8+1=513 (18) 50
(7) nineteen point zero one | | (14) "10's 0.4 (19) 680 7+2=675 (19) 223
four a5) 000’ 0.003 | |(20) . 920-9%1=912 (20).. 36" |(25) 128
(8) thirteen thousand, two (1e) 1@- 602 1) 1+20+3=24 1) 401 |(26) 152
hundred and three an o @©r4.432 (22)a1,, 3 +40 +5=48 22115 | @27) 214
(18) 987 (6)8 (28) /3+140 +2 =145 @3) 148 |(28) 159
(19) 0. 3792 @4) " 1+220+7 =228 (4) 174
(20) 503856 (25) |2+ 370+ 3 =375
= | =6 | "8 |
(1)  0.87,5.45,6.86, @ 9,18, 27, 36, 45, (1) $80 | () ' $680 (1) (90 x5)+ (3x5)
7.04,11.3,13.9 54 63. 72. 81 4 @ $90 | (m $950 =450 + 15 = 465
@) 33.71m B N G (® $200 | ® $1280| | 2) (70x6)+ (3x6)
(3) 31 47m (2) 36 isthesameasg x4 = 36 (4) $27O (9) $2640 = 420 + 18 = 438
@) 32.75m ®) 63uremes9%7=63| | ) $1905/00) $90201 | 5 (505 7)+ (6x7)
(5) 3371’ 3348, 3285, (4) 45 isthesameasg X 5 | 45 (11) 1430’ 1400, 1000 = 560 + 42 = 602
32.75, 3147 (5) 18.ueliesIx2=18| | (12) 5640,5600, 6000 @) (90x8)+(8x8)
(6) 72 isthesameasg X 8 = 72 (13) 3970; 4000, 4000 = 720 + 64 = 784
(©) 4 @) 2T 9x3=97 | | (1414610, 14600, 15000| | (5) (200 x 4) + (9 x 4)
@ 1 o1 “am“sg o5 | |G 38250, 38300, 38000 =800 + 36 = 836
®  65.9;67.9, 68.1 (8) o 8T wmesamead X 9 = 6) (900 x 4)- (3 x 4)
©) 4,863,756 1,2 | | (@ Sdumean=9x6=544" (1677487 (1) 291.3 = 3600 - 12 = 3588
(10) gOisthe same asg X 10 = 90 (17) 21 4 (22) 3283 (7) (400 X 6) - (4 X 6)
10) 1.491kg an. 9 |y 7 (18) 149 |(23) 4245 = 2400 - 24 = 2376
an 1.512kg @2 236 |2 27 | |[@® 401 [@D 7039 | | @ (700x7)-(5x7)
12 1'497k as 54 |23 WB (20) 516 |(25) 9154 = 4900 - 35 = 4865
(12) 499 N 5 oM (9 (400 x8)+ (7 x 8)
(13) 1.5kg (26)  $100 + $50 = $150 = 3200 + 56 = 3256
(14) 1491, 1.496, 1497, |_|(19) 90 | @5 27y | (27) $280+860=8340 | | 10 500,914 6y 0)
1.507, 1.512 ds) 45 |(26) 09 (28)  $390 - $80 = $310 A \©
2o 20 - $180 = $34 = 4500 + 54 = 4554
an 18 | @l 10 (29) $520 - $180 = $340 10 x 20 = 200
(15) 26.9571, 26.9715, (30) $400+ $800 = $1200 | | D) X
26.9751, 18 63 (28 "045 | | (31) $900 + $600 = $1500| |12 24 x10=240
27.000, a9 27 |29 4 (32) $1700 - $800 = $900 | |(13) 6 x 64 = 384
27.1569, 27.1596, | |20y 72 |@0) 54 (33) $3600 - $1000 = $2600| |(14) ~ 42x8 =336
27.1659 31)  $9.00 x 8 = $72.00 (34) $8.50 + $9.40 = $17.90| | (15) 4 x 100 = 400
_ (35) $6.00 + $8.70 = $14.70| |(16) 801 |(19) 2443
(32) $5.00x 9 =3$45.00 (36) $34.50- $7.50 = $27.00| | (17) 2076 |(20) 2152
(33) $81.00+9=%$9.00 (37) $50.00 - $8.70 =$41.30| | (18) 2322 | (21) 5121




1) (40 + 4) + (36 + 4)
=10+9=19
(2) (100 +5)+ (55 +5)
=20+11=31
3 (60 = 6) + (48 + 6)
=10+8=18
4 (70+7)+ (56 +7)
=10+8=18
(5) (80 +8)+ (72 + 8)
=10+9=19
(6) (800 +2)-(8+2)
=400-4 =396
(7 (1400 = 7)- (14 = 7)
=200-2=198
(8) (1600 +8) - (16 + 8)
=200-2=198
(9) (1200 = 6) + (24 + 6)
=200+4 =204
(10) (1800 +9) + (27 +9)
=200+ 3=203
(11) 144 +6=72+3=24
(12) 128 +16 =64 + 8 =
32+4=8
(13) 480+20=240+10=
24
(14) 264+12=132+6=
66 +3 =22
(15) 288+16=144+8=
72+4=18
(16) 23r3 |(21) 140r3
@7 14r3 ((22) 5713
(18) 13r5 | (23) 13513
19) 9r7 |(24) 82r3
(20) 9r5 |(25) 93r5
1 9000 @ [
OOO0
o telele, LI ]
[ X X
[ e X
@ === o000
QOO0
B) OO0
OOOO
() .
3 x5 15
@) 255 0
2x9  _ 18
®) 3x9. . /l27
2x7 14
®) 5x7 T35
3x5 15
(10) 8x5 40
10+ 10 1
11 40+ 10 4
am =
(13)  gpes = 4
16+ 8 2
a4 40+8 5
36+9 _ 4
(15) 45+9 5
(16) 4 as)
@ 20 @9 s

1) Prime (1) onehalf | (2) Louwor2| | (L Va2 Vo Yo, s
2 MU|t|p|eS (©) 1/3 “4) l out Of§ 1/7 1/5 1/4 1/2
(3) Factors (5) one quarter| (6) 4 2 i
@ 1,235711,13 || o, | o |
(5)  53,59,61,67 T 1@ Lowdd NI
(6) @Y@Y 33,35 Y@, (9) onesixth | (10) /s A
39, 45 ,@, 49 ,@ (11) onegenth| (12) 1 outor 10| @) P
(7) 7,14, 21, 28, 35, 42, 49, 13) 3, 5p05/ 41 1) 4, 14, 14, 14, 14,
56, 63, 70 e 8 2 6, 7, 8 9
In ls ¥ %l
®) 36, 42, 48, 54 *lo. %10 or *1s
(9)  45,54,63,72,81,90,99 | | (14) | [ [ [ | (4) s, 2ls. %ls *g. °ls,
10 1,2,3,4,6,12 I N N e
( ) | | | | | | | 6/8, 7/8, 8/8, 9/8, 10/8,
(11) 1,5,7,35 .
1,2,3.4,6,8, 12, 16,24, N I I I ls, “lg, lg
(12) 48 I P W
3 16 |@ |7 OOl | | © Yo, %2 %he, o, %o,
14) 36 @25 10 (15) 12 (as 3 x 12 =36) ®h2Cho, M2 *ha, %hs,
(15) 100 | (26) 9 (16) 17 (as&% 1L =385) My 120 13 14
@ae) 25 27) 3 @7) 12 (as 7 x 12 = 84) 1200112, T2, T2
a7 9 (28) S (18) 12 as 72+6 =12) (6) 24 @ 49
a8 81 |(29) 8 (19) 12 (as96.+ 8 = 12) @ 30 |ao) 76
(19) 4 (30) 4 (20) 19 (as 190 + 10 = 19) (8) 45 |(11) 56
(20) 249 @D 12 1) 12%x5=160 (12) 74500 + 3 = 1500 x 2 = 3000m
(21) 144».@32) 15 (22) 10 x 6 = $60
(22)0225 [ (@3) 20 (23) 23 x 7 =161 (13) 60 +4=15x3 =45 minutes
(23) 121 | (34) 6m (14) 80+5=16x4=64rolls
(1) 0.5 3) 0.4 (1) 0°C @) a=46 @) m= 40
2 2025 | @ 0:8 (2) d=42 | ® n=5
() 8.0 S @ 8°C () e=42 | (9 p=7
©) 6/10 - 3/5 @) 4°C (4) f=133|(0) q=780
(7) 75/ - 3/4 (5) h = 87 (11) s= 8
. @ 5°C 6 i=43 [(12) t=625
(8) 100 = /20
(13) $9.00
9) 0.8 x 100 = 80% (5) 8°C
(14) $87.00
(20) 0.25x 100 = 25% © 1923
(A1) 0.47 x 100 = 47% $ o (5) 85 pages
12) 362x 100 = 362% | |- 2 (16) $32.50
@3) 60+ 100=0.6 ® 0200-450=-g250 | | $27.50
(14) 75+100=0.75 (18) $2.50
9 250 + 325 =%7
@5y 125 + 100 =0.25 @ "250+325=875 | | o Cost=$2.50n+5
(a6) 150 + 100.= 1.5 (10) 10 metres (20) Cost=$2.50x20+5
60 —_ 6 ) —
0 o0 = "o =g (11) 4m, 7m, 9m =$55
(28) 21100 2lz5=ra
(19) 40700 = 4o 2 2/ (12) Draw a bird at 10m
(20) 100 = la (13) 10m
21) % |22) 05 50% 14 8m
A (23) 0.25 |(24) 25% L
(25) 075 |26) 75% (15) 2,4,6,9
27) “s |(28) 0.8 80%
(29) ¥s 06 |[(30) 60% (16) ‘6m
Y (31) 0.2 |(32) 20%




Possible answers:

(21) anti-clockwise

(1) “ee @, ﬂ, Q (1) - dist d hool (1) -Possiblle answers: i (1) Possible a?swers:. )
Begin with 4, then add gouncs, " et pasto oy, 2 chen snk
8 to each new number] - height of a lamp post, - a piece of bread, -milkina car*;on,

) 4.1.5.0.5.9 - length of a running track, - empty coffee cup, - petrol in a cars tank,
e ey e - lengths of material. - packet of biscuits - water in an aquarium
...0.5,2add 0.9 ) distance between two cities, 2 a2 car. a truck . .

©)) 59 53. 47 distance between two countries ' ) yater in a lake, water in an
=== == — : I ocean
... 83, subtract 6 (3) fengthofa pebn:;l;( size of a text (3) ananimal, a bag of potatoes (3)" medicine 6n a spoon, coffee in

(4) ...6.4,56,4.8 4) width of a pencil, thickness of a ) acup

.. 9.6, subtract 0.8 @ matchstick (@) afater a toothpick (4 5300 | 6) 8.3

(5) [1]2]3]4[5][6 (@) 8910 G) 2500 | 7.3 (5) 6300 1 (®» 5.2 (5) w2940 | (m 6.29
11@)13[14]15 161D 18]18]20 (6) 3150 | (80 4.28 6) 4280 | (8) 1.29
21162 23|24 |25 26 {27 28|29 30 ' (8) 6.3 |[(0) 9300
- %jj . jg%j: 28 @ 620 |1 74 © 57 |@y 3200 @ 7.25 |(11)»,.5650

6) 7.12, 17,22 27,32, | |Q0) 575 [(12) 8.43 (10) . 4.26 | (12) 7250 | |(12) 6.85L

37,42, 47 (13) 750mL
@ 9 s 15 05 90 @3y 49 jas 3200 500 #6.3 % 2.58 =
(14) 125 |@e) |78 @y 925 |@ef 2480 | |*Y 7.h

(8) ... 64,128, 256 : 508.88L
... 4, multiply by 2 @7) 3.2 |(@9) 6300 [ |(17) 8+6.2+500="5142kg| | 1D 43%21+06=7.0L

(9) ... 625, 3125, 15625 (18) 9.54 |(20) 2710 (18) 4.63#250+3.1= -

5, multiply by 5 25773 (16) ©8.64-4.5=4.14kL
(10) ... 80, 160, 320 (21) 900 + 3500 #£3 = 4403m| |(19) ' 56.-2.4=3.2kg (17)y 9250 - 7800 = 1450mL
.. 5, multiply by 2 (22) 3.7+23+25=85m | |(20) 10.7-912 = 1.5t (18). 8.65-5.82=2.83L
(11) ... 120. 60. 30 (23) 720 -/636 = 186mm (21) /7300.- 5950 = 1350g (19) 7690 - 4960 = 2730mL
.. 960, divide by 2 (24) (810 - 620.=1190cm (22)@78560 - 5900 = 2660mg | . | (20)" 3900 + 4200 + 1.5
(12) $1.35 $2.70, $4.05, | |(25) 2.1+54.+0.8=8.3km| |(28) 750 +94 + 3.7 = 847.7g =8101.5L
$5.40, $6.75 (26)4 1936 - 745 = 191mm 4) " 10,570 x 9 = 5.13kg (21)  0.94 x6 = 5.64kL
13) 9 (27) 430+ 73+ 31 =534cm (25) 4800 + 8 = 600mg (22) 6.48 + 8 =0.81L
1) millimetres @ clockwise 1  51° (5) A47° (€ 5+12+13
2 G =34mm =
@ H=7mm ) anti-clockwisé @ 39° (8 137° 2 8 zgorgm 20
+ +8 +
I =52mm (3) angle 3) 129° (7) 43° = 56m
J=18mm o °
K = 42mm (@) degrees 4 90 (8) 4 43 3) 9+11+9+9
_ All the ab =
L =25mm (5) prottactor coudbet 1o +11+9=258cm
© T 1 119 1 (6) compass (9. (180°%, straight line 4) 12x10=120mm
DF AE B c
(4) 48mm is the sameas4.8cm (7) rU|er (10) 1800’ a trlangle (5) gm
(5) Line AB=43mm ®) right c (6) 28m
Line CD = 32mm . i @) 210m
Line EF 249mm 9) straight (@1) ® 28m
Line GH = 52mm (a0) acute A B
All the above answers
could be + Tmm (11) obtuse
(6) Draw a6.3cm line F
12 reflex

() 729 "~ (12) /

(8) 119g (13) perpendicular D ¢

® @N (14) parallel
e (s5) ZBED N

z"«w 150&? (16) Check diagram (13) i

(20) millilitres a7 AF and EF " -
(11) 31mL
(12) 50mL 18) AC and EF T

(19) ZEBC, ZAFE, «BCD

14
(20) Check diagram 9
S R




1) 1 row =11 squares
Area = 4 rows of 11
=44 sq units

(2) 1 row =14 squares
Area = 3 rows of 14

@) 9
) 3
3) 27
(4) 72

\ 9:15

) quarter past
/ 9

2:42

@ \
) 18 minutes to

(1) circle, oval, triangle,
square, rectangle,
diamond (rhombus),
pentagon, hexagon,
octagon.

E v s 0o N © o
L—

213 &
(9) destroyer
19 5=
S=3A
S=7C

A =09l, 9H, 9G, 9F

o

1 2 3 4 5 6,07 8 9 10

(5) triangle
(6) square
@) pentagon
® rectangle

(9) diamond (rhombus)

[
(8) A 10) , A
e <
Y \4
9) (11) v A -
K " MY

(14)y

m

=42 sq units (5) 10 x 5 = 50m° /3 (2) . cube, sphlere (ball),
_ 3 ) rectangular prism
3) 15m? (6) 15 x 7 =105m (€ \ ‘21-35 tes £ (box), triangular
@) 20m? ) 15 x 4 = 60m° 55 minutes to prism, cylinder, cone.
2 (8 10x5x5=250cm® ©) rectangle
(5) 12m 40 x 50 x 70 = (4)twenty past eight ’
(6) 48m? ® 140000cm?® @ 5:40 ) circle
) 72m? 6) 2 5 square
(8) base x height = area 2 (6) oval
) 15cm? (7 - ) =
2 t 4:37 am. =2 7y 0437 .- an
(10 20m 1c3) @ 6:45am. | €| 20645 /t- ﬁr%onal
(11) 48cm2 as) 11:06 p.m. == |9y 2306
) (10) li53 pim. | € 1353 (8) AN
(12) 55m 11:55 a.m. » | & |an 1155
2 (1210:48p.m. | € 2248
13) 120cm 12:08 am. .| & |1z 0008
(14) 90m? (14) \
Central Station 11:20 a.m.
as) o’ e omen ] @ :
(16) 100m? Station C 12;02 p..m.. _—
Station D 12:18 p. m.
a7 7cm (15) 45 minutes
@) Lough Park @) diamond (rhombus) @ Y, turn clockwise @ 2right, 1 up
@ 4C @ (2,3)(3,7)(88) @ "l turn @ 4 left, 1 down
3) '/, turn anti-clockwise| | 3 left, 2 up
®  1E.3C5A @ (9GEn | " -
4) (6 4 3 Flght, 3 down
@ South (1,1) (5,9)(7.,4) (9,2) ®)
(4) H b b y
(5) North
® Roncalli College 10 ®) e
@ Heaton Street
3 |7

|
® [z
@)
(8) scale factor = 2




ety bemore hanone posstie | | (D) pefeets Taly Tetal )| (1) (S) =14 @ 7,15,19, 23,27, 38,
some possible exan{plesto use.' (: m“’l-:’lll S (C) = 17 48, 42, 44, 49, 53, 50
(1) Collect data by agkmg P T Ta T RE @) . 2 53
each classmate either THE R
verbally or written, 3 i 14 3) 7
which TV programme 2 JITTE TR 4 415
they watch. Record T 5 @
and organise the data 6 I 1 ®) 11715,7
in a tally chart or dot 55
plot. e 13 3) 6 121 0,3,6,7
2 column graph 3) ) reagday 1310.4,59
pictogram @ ) 49 14 11,9
dot plot ®) cats =13
5 = .
(3) OWn answer EG; (7) ’ dogs 9 (6) Daily Temperature.at 6:00 a:m.
)'\
4) Own answer : 00000000 . Fa / \
) 55 0000000 s \ / N
(5) Own answer @®) [T#e - 00000¢ 82 0 AN
6 caterpillars Tally Total o: oom & "4 A
- r plant N
( ) 52 people Surveyed1 ’ 4P ||| 3 UQQO SV Days of the week
= most peop|e like HH 1 8 Key: 1 picture =6 vowels
rugby the best 6 | Mt Hibl 10 _ o
gby 1T ®) boys = 16 €] 7°C
- hockey and s | WL | 9 girls =10 ®) 10°C
basketball are both 9 W HH 10 (C) P 9
liked by 8 people 10 HH 5 ° °
56 Total e o o
- the second most - . .
liked sport is soccer | | (o) = 7 y .. SRR
® [ ] [ ) [ ) [ )
o)l 4 Jfe s s s
(11) 56 TR
38| 39 | | 40
1) 24+4=6 (@) 15 (€Y) Mark would'see a €h) 1 out of 500
comedy movie on or 1/500
@3} 24+3=8 @) 18 Friday.
2
@) 30:4=8 @) 37 @) 6 @ 202<0)ut of 8100
3) or /300 or /40
4) 45+5=9 @) 21 @)
) 45+5=9 ) 26 S N @) 600 tickets
60 + 4 = 45 ®) 16 TR O @y 1 outofGor Y
(6) 4= u 6
L SR | SR/A | SRIO | SRIP | SR/B 3outof6or’sor',
@ 93 +3.=31 @ 20 0
Ooutof6or /g
®) 308+ 3 = 101 ®) 495 (5)° salad roll and orange ) 40 white marbles
(6) HR/A, HR/O, HR/P
) 52%5=1014 9 22 ’ ’ ‘ (6) 50
HR/B, SR/A, SR/O,
(10) 420 + 3= 140 (10) 38.5 SR/P, SR/B (7) own answer
(11) 6 bike rides @y 3 ™ 8 8 own answer
132k 5 & NG -
@a2) m @2) m (9) 5
(13) 22km (13) 8 (10) 8
(14) $17.00 14) 7 (11) 7
(15) 11-3=8 (15) 3,5 O (12) 10
(16) 31-8=23 (16) 5,7,10 coffee/sugar, 13 45
coffee/no sugar
a7) 92-17=75 @n 8 (10) morning (14) 7 out of 45 = 7/45
18)  94-16=78 18)  8,8,88,88, Tussday <
10, 10, 10, 12, 12, 12 morming (15) 5 out of 45 = /45 or /g
(19) 242 - 53 =189 median =9 Thursday '
afternoon
(20) 451 -19 = 432 (19) Mode, because it (16) 4
shows the most Friday < oming (17) Because there are
(21) 62.7 -41.7 = 21kg popular size sold aftemoon more number 4 cards
(22) 12-5=17°C (11) 6 outcomes than number 2 cards.






